590D-2: SIMW), TTYINW DI
LN (Chapter-2: Acids, Bases and

Salts)

w® sl BZ % (Multiple Choice Questions)
* Required

13e =) (1nd
Round)

1. 0B JFeT Be3gmort wleesr 3T WHSDHBION B FFNT 0drexd BRDADR, 1 point
AeDdAO? (Which of the following medicines do you give for those who
suffer from indigestion when they have heacy meal?) *

Mark only one oval.

() esoe3wadeeeds* (Antibiotic)
C} ©x0e3d3° (Analgesic)
() 0639 (Antacid)

() 803”335 (Antiseptic)

2. e3uead TS o) WS, WBUNHS Berdsn’old (The indicators which 1 point
turns into red in acidic solution) *

Mark only one oval.

() 80333 @) Oe3, = (Turmeric and Litmus

@ DeRz0eRf DR) egd e esBoesF (Phenolphthalein and Methyl orange)
() O s Qegdyer esSoef (Litmus and Methyl Orange)

() deegdesf ba) Ou,zF (Phenolphthalein and Litmus)



3. DI e 20w D9t B3 Tow' BT 0HT VOBV VAVTI) 1 point
DRNB JoRDIT. HMTT €3 ©e,a3es (Zinc piece reacts with a solution and
releases a gas that burns with a pop sound. So that solution is) *

Mark only one oval.

Mg(OH).
Na.CO;
NaCl
HCI

4. 3950 TS pH 6 BNDBT. FToew FPXV0TN BOTIER B 0DT J033 ¥TT pH 1 point
d)’avé (The pH of fresh milk is 6. The pH value of the milk after its conversion
into curd) *

Mark only one oval.

6
6 3,03 38D (Below 6)
7 &,038 3d), (Above 7)

BUrHPDe (does not change)

5. D 8&33@( QBO0T HVBBDI R LIV (Bee stings can be treated with) 1 point

*

Mark only one oval.

AINT® (vinegar)
JpeBodo BB R’ seedeersees (sodium hydrogen carbonate)
@pezadodo 3,393 ;& (potassium hydroxide)

o23 3 (lemon juice)



6.

I, RBTBO T9,20)BeN GV S0drarHEs e3) (The acid produced naturally in 1 point
our stomach is) *

Mark only one oval.

835 8 (acetic acid)
e35° &) (citric acid)
®,00,eded5* e (hydrochloric acid)

F\')Q).@%@G‘ &) (sulphuric acid)

DrFe 8B, 2,00 BVTeETE (an example for weak acid) * 1 point
Mark only one oval.

03 3 (acetic acid)
5,838 &) (nitric acid)
®,@0,e8e05° e (hydrochloric acid)

5&1@%85‘ &) (sulphuric acid)

a_)a%&)meojo 09,336y (Basic solution) * 1 point
Mark only one oval.

30®) O3, eﬂg( Qed 3, WBTIADBT (converts red litmus into blue litmus)

deragdenf FprBBRY) rHeed w3, WBUrHBA (turns into pink colour in
phenolphthalein indicator)

ey 8802 RSB BYH wed, WBrdBA (turns into yellow colour in methyl
orange indicator)

2edT auIe (all of the above)



9. TRIR Wed B;0,e30e05° s odrt S3rdwen DdnRdalyerdad e (the 1 point
gas produced when zinc reacts with hydrochloric acid) *

Mark only one oval.

D) S, edreus’ @do (nitrogen gas)
D) 30edx* o (chlorine gas)
@ 3, @R eaxf @dw (hydrogen gas)

() esdaxf ®do (oxygen gas)

10. QT sBITODS 8 (acid present in ant bite) * 1 point
Mark only one oval.

() 8B,80,e80e8%° esad (hydrochloric acid)
() BIeeds s (methanoic acid)

() 3,30,.e8pd%° & (hydrofluoric acid)
() 3,8 e (nitric acid)

2:e DI (2nd
Round)

1. 2IndY adreYych esaried resy)? (Which of the following is not a property 1 point
of acids) *

Mark only one oval.

() @9 a3 Beod (have sour taste)

C) 83,7 FNBID, o) 2698, SDADBE (turns litmus paper into red colour)
@ pH 3520 7 3,03 88D BT (The pH value is less than 7)

D) BBy 00NT B3ed ek, et sLoe3rd3T (reacts with base to give alcohol)



12.

13.

14.

Qe Ao B)adeermeadh B @)adeer BTN DR, B,080,8e05° B8 1 point
eﬂc\’)odxg D@, Jed Horie o) O3, FoNB, TodIWN B udmdﬁobaig(
RADAD (When you are doing experiment in the science lab, you will

notice this change when you run dry hydrochloric acid gas into dry blue

and red litmus paper) *

Mark only one oval.

Qed 083, 7 Box) weed, 3Drb3d (Blue litmus turns red)
Bom) 08,7 ded wed, 3Drb3d (Red litmus turns blue)
288R 83,7 FonENY e wBwrd3d. (The color of both litmus papers changes)

03,3 FonTnY we wBeerdYBE (The color of litmus papers does not change)

A, B, C &) D ma@eny pH 3524 3beeN 2, 3, 4 D) 5. aInvd o3 @ad), 1 point
B3ead MR, BeoDDLS weyes (The pH value of the solutions A, B, C and

Dis 2, 3, 4 and 5. respectively. Which one of these has more acidic

property? *

Mark only one oval.

A 9,363 (Solution A)
B 9,363 (Solution B)
C @9,3¢s (Solution C)

D @9,3¢ea (Solution D)

e eIt VTN esa)mdaig( GLOEDTTOWIS 38 T (The oxide which 1 point
forms acid when dissolved in water) *

Mark only one oval.

3) 6933 &3 ,cF (Ferrous oxide)

Shedodo s3 o (Magnesium oxide)
Suo° &y &3, (Sulphur dioxide)

S,

), ado 38 ;o (Calcium oxide)



15, @@ndQ oed), H+ @Qind)ri%fabd eVoeRTRDS 3 (The acid produces more 1 point
H+ ions) *

Mark only one oval.

0835 ) (acetic acid)
®,00eded5* e (hydrochloric acid)
Qe35° &) (citric acid)

Soe3er & &) (carbonic acid)

16. 20T B WEQT&HS m_ﬂsadxﬁg( e O3, 3° FoNT3 DeeS Todwen Oe3,I° FoNTY) 1 point
Box) WS, SDHBT. ToredT & ET&HS weyes (When a drop of colorless
solution is placed on blue litmus paper, the litmus paper turns red. So that
colorless solution is) *

Mark only one oval.

22003 ReeBabo &,;593 ;& w6 (dilute sodium hydroxide solution)
o003 & ;00,8005 e (dilute hydrochloric acid)
JeelBabo Boedeerees® wo,aea (sodium carbonate solution)

I3 ded (distilled water)

17, 2Qndd o), &,59,3 0 0oDNY) svoedreda Joadwd (the compound 1 point
which produce hydroxyl ions is) *

Mark only one oval.

eedodo ;393 4o (sodium hydroxide)
03 3 (acetic acid)

ederedodo 8,393 ;& (ammonium hydroxide)
Wrex)@de o (none of these)



18.

19.

JreBabo B,59,3 ;T 09T IDIS WV, Todten TRTWNE VS FNW 1 point
(Name the products obtained when zinc piece added into sodium
hydroxide solution) *

Mark only one oval.

C) RpeBodo soedeersees D) B, ewr’ @Jdw (sodium carbonate and hydrogen gas)
C) RpeBodo 39ed,w DP) 83 ° @dw (sodium chloride and oxygen gas)

@ peBodo DI BRI 8,93 ;& (sodium and zinc hydroxide)

@ Jeedodbo dodeer D) B,;deewa’ @Jw (sodium zincate and hydrogen gas)

CH;COOH, HCI, H.SO4 &3 HNO; @R, QedS0 d0eSrie@wen evoe3orda 1 point
<ogdyos; Ao (The common ion produced when CH;COOH, HCI, H.SO4
and HNO: are dissolved in water) *

Mark only one oval.

Q Option 1 @ Option 2

H* OH-

Q Option 3 Q Option 4



20. D, Bedd pH mééod)@m Boabf ABEHDBE. (Our body functioning 1 point
range of pHis) *

Mark only one oval.

7.0 803 7.8 (7.0 10 7.8)
6.0 803 6.8 (6.0 to 6.8)
6.5 803 7.2 (6.5 t0 7.2)
8.1 8033 9.0 (8.1 to 9.0)



R 0D-3: LRETNH DR LRLHNR)
(Chapter-3: Metals and Non-Metals)

& esod, FZrd (Multiple Choice Questions)
* Required

SRTOIaD
S5

1. 038 BRI ST 3 e Beodda edees (Metal has more ductile property) * 1 point

Mark only one oval.

@ @) (copper)
()80 (Iron)
()28 (Gold)

D) ©RLAbo (Aluminium)

2. B IYNIYINYY eVGET DFL ToBBN TN 2308 (Pair of weak conductors 1 point
of heat) *

Mark only one oval.

() 239 e e (Silver and Copper)

D) 3L 69 DR wrRdabo (Iron and Aluminium)
() =% ava 39, (Gold and Silver)

() %ex DR 3930 (Lead and Mercury)



5.

N0 D) 90N hpednwd ©d ToT0Z &,5° sahdpodrt S3ed 1 point
QRN oS3 90 (The gas liberated when magnesium and manganese
reacts with dilute nitric acid) *

Mark only one oval.

@, dreux* (Hydrogen)
S ednensf &, 38 ;o (Nitrogen dioxide)
a3 3x° (Oxygen)

Sowea’ @y 33 ;o (Carbon dioxide)

‘ad&ya‘ N dpeddod velpedd, SMof3HoarYBT BB BVOIITHD 1 point
Joaiw3 (The compound formed by transferring of electron from metal to
non-metal is) *

Mark only one oval.

HCI
MgCl.
CCls
H.S

QINLO) B9 T TeVS (The incorrect statement is) * 1 point
Mark only one oval.

dReBRW 8B B3 S3rd BZaead 83 ,tF svot3erd3as (Metals react with oxygen
to form basic oxides)

©deeBnY 83 1 L3 S3rd escead ¢33 & svoe3arddd (Non-metals react with
oxygen to form acidic oxides)

elReBRW SF; D) Bty rhes BeodI (Non-metals have ductile and malleable
property)

drednw euad Svd3n% (Metals are good conductors)



6. BB IPSNOT LVZOTEWT DT (The ore which can be extracted 1 point
from calcination is) *

Mark only one oval.

SRS IS, e (Zinc sulphide)
Soa@ 3, (Copper sulphide)
BRI Boedeers3ees® (Zinc carbonate)

A3 3e0° (Cinnabar)

7. ST DRI, Medrt STHEIN BT e evoe3ardS BAD SeBS (The 1 point
green coat is formed when copper containers are exposed to air is) *

Mark only one oval.

CuCOs
Cu(OH)
CuO
CuH-

8. dEvod w33 edeedniky (The component metals of brass) * 1 point
Mark only one oval.

Sy DB 33 (Copper and tin)
Sy DB I (Copper and zinc)
QeR DR 333 (lead and tin)

€8 DR I (Lead and zinc)



9. AT So3n¥Y, LFodbey evaadeeNa DBteeRd we3ariwd (Alloy 1 point
components used to fuse electrical wires) *

Mark only one oval.

D) 3%) €9 DR) Feeeoes, (Iron and cobalt)
@ Sy DB 33 (Copper and tin)
@ 3% £ @) 13,e* (Iron and Nickel)
() ?ex &) 8333 (Lead and tin)

10. DTN IBDABNR 2w¥Mand edee® (A metal that does not corrode easily) * 1 point

Mark only one oval.

() =ea (Copper)

D) 39, (Silver)

()& (Zinc)

D) 3 6 (Iron)
QTBI D
)

1. o) DIB) SSONYRY, 633 deednvoN oD, SBBNY 3017003 WFDT 1 point
elee® (A metal used for making medals, containing copper and tin as
component metals) *

Mark only one oval.

() 3oz (Bronze)

() 3=t edeea (Solder)
D o39% (Brass)

() s 3ne (Alnico)



12, 33 39 6 DWDHNDIT. B3, A9z FoBBY, FeODYWT @wowd Ned Torte 1 point
WOWBNBWBID? (Pure iron is soft. Which element can be made
stronger and stronger by adding to it?) *

Mark only one oval.

o) (Copper)
es3 x* (Oxygen)
Jeedado (Sodium)

Bewea® (Carbon)

13, B9ab @R Mmedrt STHEIYN Jv, Fo0TW F0BT B HBT. B B3oHabe 1 point
39, @03)08,0001 B3rDA MePod &3e3s (When the vessels of silver are
exposed to the air, they become blackened after some time. The unit of
air that reacts with the silver vessel in the process) *

Mark only one oval.

a3 3x* (Oxygen)
Se,0° (Sulphur)
SoeRF B3,e88 .o (Carbon dioxide)

Soua’ Ryemed ;& (Carbon monoxide)

14.  dpeanyd daedeodod B00ea @93 3 (Descending order of reactivity of 1 point
metals) *

Mark only one oval.

Fe >Zn > Al > Mg
Mg > Al > Zn > Fe
Zn > Fe > Al > Mg

Al >Mg > Fe >Zn



15.  Na:0 + H:0 — 2NaOH 85 Tom0ah3 3,01 ©80200803T03 J0ed Be93 1 point
(Naz20O + H.O — 2NaOH Correct statement regarding this reaction is) *

Mark only one oval.

[T TIBEs EodhawreNd (This is a displacement reaction)
QAW IR 30hadeNd (This is a decomposition reaction)

20 QedZpodrt pedbeod 83 ;i B3rd FIONIR e, (Here metal oxide
reacting with water to form base)

edpedead B3 ;i Jed}podr S3rd sahaRotd a3 (Here metal oxide reacting
with water to form acid)

16. 81 3YNIYMYY 38D TeoB)F @) BB 31T VoBNFRY, B oBDES FoT 1 point
eleednsd (The following are alkali metals with low density and low melting
points) *

Mark only one oval.

T DR 3% ¢ (Copper and iron)
33 DI 3¢, (Gold and silver)
R0 BB e (Aluminium and lead)

Dedodo D) JFeedabo (Lithium and sodium)

17, 8 3YNIYriFQ oS wieeBaln TSuwEs 3,0HabY svotdaErem3d? (Which 1 point
of the following causes a displacement reaction?) *

Mark only one oval.
RpeB0do Bed, T TyBe DR o) eleed (Sodium chloride solution and copper

metal)

hRedabo Bed, T weEen ) veurbdodbo eees (Magnesium chloride solution
and aluminium metal)

SO S eer® Tes ehI) W9 ad elees (Ferrous sulphate solution and silver metal)

B3Q0d Fedees woySe D) oW edeed (Silver nitrate solution and copper metal)

Q



18.

19.

20.

e3HO0 DWITENS céai’?)J ﬁ@d& BIVD0T SeBS SeBTNDHIT e BT 1 point
530&)&')0(50”. 5B30x3 (Food cans are coated with tin and not with zinc.
Because) *

Mark only one oval.

C = 3333,038 @Ded (zinc is more expensive than tin)

C) BRI 30rHA Dod BBTS,038 Hed), (Melting point of zinc is more than tin)
@ JDQ) BTV, 038 Bed), odredewmaNa (zinc is more reactive than tin)

@ BRFY) BS0L,038 BBD dadredeEaNd (Zinc is less reactive than tin)

B3 Godredend BpodDS o (The metal which is more reactive) * 1 point

Mark only one oval.

()80 (Iron)
() =oay (Copper)
() 239 (Silver)

() &eeBado (Sodium)

03 B 30MHS Do) DA DOVODBY, T 0DDES WB03 30T S;BAES 1 point
3 (A very hard natural material with a very high melting point and boiling
point) *

Mark only one oval.

() &%, (Diamond)
D ny@,e3° (Graphite)
() =33 (Mercury)

()80 (Iron)

w33 ad
)



21. B ICezd vedees (Liquid non-metal) * 1 point
Mark only one oval.

©9030e8%° (lodine)

sd uF (Oxygen)
WReda* (Bromine)
®,dreaxf (Hydrogen)

22, DINYY IW)E TN B03NW T 10 BeT,; T 0T 813N, 39T 1 point
(Electric wires in homes are covered with polyvinyl chloride. The reason is)

*

Mark only one oval.
Bo3NW 8238 DB) DO, B3, T od3NT. (Wires are bad conductors
and polyvinyl chloride conductor.)
B8N Heveridod 33w (To protect the wires from damage)

Bo3NW D983 DR) DO ;0 Bed, T wmad3mNG. (Wires are conductors and
polyvinyl chloride is bad-conductor)

B03NW D9 BredDHPYBIY, 3Aew (To avoid expansion the wires)

23. 38 383 ?Dod)ﬁ%?ﬁg( TRODDS drednwd (Metals have low melting point 1 point

*

Mark only one oval.

33 @) &3¢, (Gold and silver)

Sy DB 33 (Copper and tin)

3260 D) R0 (Iron and aluminium)
me;dado S dedobo (Gallium and Caesium)



24, 03ahBedE 33,3 1T 2,00 YVTIBTE (Example for amphoteric oxide) *
Mark only one oval.

Na.O
Al.O;
K.0
CuO

25.  Bpeareen @oADS Sefq) BIINYRY, BeodDS edriwd (Elements have
fully filled shells) *

Mark only one oval.

JeeBabo 23 S edabo (Sodium and magnesium)
59,0, 0do SR Bpesg;dabo (Calcium and potassium)
A DI esreex* (Neon and argon)

S,0° @) 8edFF (Sulphur and chlorine)

26. é/amedécs‘ 29039 @db—aya‘ cf)mzsﬁ (Electronic configuration of chloride ion
is) *

Mark only one oval.
182 252 2p® 3s2 3p°®
182 252 2p°® 3s2 3p®
182 282 2p°® 3s2 3p*
182 252 2p® 352 3p®

1 point

1 point

1 point



27.  deededd &3 o Yo draeari%éaig( E3BAFTVLY WPAI o (The element used 1 point
to reduce metal oxides into metals) *

Mark only one oval.

Bsowex* (Carbon)
3[R (Zinc)
59,8 abo (Calcium)

a3 2F (Oxygen)

28. @B IBe0d BReBTETO BB Sverenad Jorj@riew)s S (The 1 point
substance that accumulates at the bottom of the anode in the electrolytic
purification) *

Mark only one oval.

303 33,0r% (Soluble mud)
033 ceed (Impure metals)
B3 eeed (Pure metal)

30na 83,01 (insoluble mud)

29. 39N 0o T TBREY) 903198 TFodwanw JOeSrtedyBa3? (In which of the 1 point
following solvents ionic compounds dissolve?) *

Mark only one oval.

dedog (Kerosene)
Jodex* (Benzene)
e (Water)

Bedreesf (Petrol)



30.

dpead) &,t35° BT B TATIATN B3TR,eF° 8L DRBNBArHIHD.

&B0833 (Hydrogen gas is not released when the metal reacts with nitric
acid. Because) *

Mark only one oval.

3,838 ) Brow ease3 (Nitric acid is strong reducing agent)
3,838 ) Brow evd @e3 (Nitric acid is strong oxidising agent)
S, e Bzescead res @eodd (Nitric acid has alkaline property)

3,633 e dwre ew3sAeS (Nitric acid is weak reduing agent)

1 point



TY0D-4: FoED D) WTT FOWWBMIH
(Chapter-4: Carbon and Its

Compounds)

w® sl BZ % (Multiple Choice Questions)
* Required

SpdoIab ) (First
Round)

1. @3603 T &3 500~ (Simple Hydrocarbon is) * 1 point
Mark only one oval.

() ssBex* (Ethene)
() Qvegdex® (Methane)

() wpedess (Butane)
() oBex (Benzene)

2. BRI I Sed) (Carbons's valency is) * 1 point

Mark only one oval.



4.

BV VBT SoWF® T EVN T 0 uocjﬁ@éafg(ow S8 @S easa)ri@éaig( 1 point
B3 dda e (Carbon has the unique ability to form bonds with other
atoms of carbon, giving rise to large molecules. This property is called) *

Mark only one oval.

Jeon3 (Isomerism)
wdTP33 (Allotropy)
Be3ned3¢es (Catenation)

®,dRewesde (Hydrogenation)

ARINYO Sarera By@ReBED 11 eVTeETE (An example for saturated 1 point
hydrocarbon is) *

Mark only one oval.

B3 e’ (Hexene)
8s5,° (Ethyne)
Joedex® (Pentane)

R Edes* (Butene)

BODIFRD B 3TR,eSRIER MO Fo0QITOIB VOWreE HePS (Correct statement 1 point
about saturated hydrocarbons is) *

Mark only one oval.

OBWOBT e Hrog Beodd (Have single bond along with double bond)
OB00FA B3 o7 Beod. (Have single bond along with triple bond)

080033 e B208 Torte drog &eodI. (Have single bond along with double and
triple bond)

OB007 03, 0B (have only single bond)



6. CsH,OH 8 50239£ 3 BoodnadBODHS & adrerhozy) (CsH,OH Functional group 1 point
present in this compound) *

Mark only one oval.

esedp,exoe (Alcohol)
deednex® (Ketone)
s, (Aldehyde)

Soeserd ©5° e} (Carboxylic acid)

7. BINIYINYO ﬁéa@memédea“ 3 e9ene3,; (Molecular formula of cyclobutane is) 1 point

*

Mark only one oval.

CaHio
CaHs
CiH4
CaHs

8. el FER BDTTELNFRY TN 20T BRIOTTIY TR oLDE 1 point
® 3R B’ Joadwd (Hydrocarbon which has three carbons and a double
bond is) *

Mark only one oval.
apesex* (Propane)
Bpedex’ (Propene)

&pyess,; > (Propyne)

@Bpeaeveesr (Propanol)



9. o @R H03,00 S¥AE BT d.)eo"% 8@)?3(:5&6, 233 93¢ (If the outer 1 point
surface of the bottom of the utensil is black, this means) *

Mark only one oval.

() e300 Fpearaon oo (Food is not fully cooked)
() 20338y @pwr 3BIeeNe). (Fuel is not fully burnt)
() 205338y wi3adrenNd (Fuel is wet.)

@ QOFIRY) Tpef Bd3eNT (Fuel is fully burnt)

10.  CsHs 85 3¥NS 0o e9xbdea J)eedrt edT? (CsHs belongs to homologous 1 point
seriesof __ )*

Mark only one oval.

D) sd,ex’ (Alkene)
D) sdexF (Alkane)
() a3~ (Alkyne)
() Redpe seex® (Cycloalkane)

2BBIad DI (Second
Round)

11, Ipededeedns 8dhad *ed) (Formula of propanoic acid is ) * 1 point
Mark only one oval.

() CHs-CH»-CH.-COOH
(") CH+CH»-COOH

() CHxCHxCHO

() CHx-CH2-CH.~CH>-COO



12. QPN B0z Sodr wITRS B 300,500’ (The hydrocarbon which 1 point
undergoes addition reactionis ) *

Mark only one oval.

CzHa4
CzHs
CsHs
CH.

13. CH;-CO-CH; 8 S00in3BdOdha adyerbox) (Functional group present in 1 point
compound CHs-CO-CH;) *

Mark only one oval.

Soederd O esxd) (Carboxylic acid)
8%, (Aldehyde)
sede,e@aer (Alcohol)

deedpex’ (Ketone)

14. oz ot wYBRDS B @R eseex’ N (Hydrocarbons which undergo 1 point
addition reaction) *

Mark only one oval.

sd,ex’ R e, (Only alkenes)

sd, ;7 fd e, (Only alkynes)

sd,ex’ D) e, R (Alkenes and alkynes)
3¢d, e L (only Alkanes)



15, BoER’ ITBRADY 2,00 33 @smoddxi& BPODT), VoY), FowER® ﬁ%’aﬂ& 1 point
BPOODS B ;@S Boalws (In a carbon chain there are four carbons
and there is a double bond in one side. Then the hydrocarbon is ) *

Mark only one oval.

R Edes* (Butene)
Joedex* (Pentene)
R e3ex* (Butane)

23, ~F (Butyne)

16. eougd ﬁdd@oﬁﬁg’( TR ODDS Towyord OF° 3T JeedBabo BPme a-"yaméc%oi)o 1 point
0BeNYY, deridh 39T. (sodium or potassium salts of long-chain carboxylic
acids are called as) *

Mark only one oval.

oxed (Detergent)
T (Soap)
et Jeewe (Baking soda)

et eux) (Common salt)

17.  JIZRI, OBNY &,0R,eRes0630 85 FoDBIY 3087983 BN wY1TIT. 1 point
(The catalyst used in hydrogenation of plant oils) *

Mark only one oval.

deeesoes, (Cobalt)
3 & (Iron)

8,e* (Nickle)
e9adee@sF (lodine)



18.  &;Bresded’ Nv Spdv IT, (First member of cycloalkane_ * 1 point
Mark only one oval.

() vegesr (Methane)

(") &g, (Ethyne)

() Bpexde (Propane)

() R,3neadpeases (Cyclopropane)

19.  -COOH 2@t a150@ 3,0359rD0dS enTeZ B, @3ABDIT? (Name the 1 point
common name of functional groups of -COOH) *

Mark only one oval.

() esedp,emees (Alcohol)

@ s, (Aldehyde)

D) Soeserd ©5° e} (Carboxylic acid)
() &eedpea® (Ketone)

20. DFFeedhE 83 wtwied) (Molecular formula of methanoic acid is ) * 1 point

Mark only one oval.

(") CHs-COOH
() H-COOH

() CHsCH.-COOH

() H-CHO

SwB30d @D (Third
Round)




21.  CiHio 20380 IBSeI) eod 205M1E 50:;»3as (Number of covalent bonds in
CsHio molecule is ) *

Mark only one oval.

13
10
12
14

22.  eodeedaiye el 8 IF3 w0308 (Ammonia has this type of bond) *
Mark only one oval.

dezdo B203 (Only double bond)

Bexdw 303 (Only triple bond)

8,203 D) o (Both double and triple bonds)
Bezdo o303 (Only single bond)

Fa0eob EMnQOs + moa
CH:CH>-OH . » (CH;COOH
Alkaline K’I"v."lni:j'er + Heat

= gofmj:@j @peoja KMnO; & wocdos

In this reaction, role of alkaline KMnO, is

Mark only one oval.

vadarnzed (Reducing agent)
oV3, Beeazad (Oxidizing agent)
Q583 (Dehydrating agent)
30353333 (Catalyst)

1 point

1 point

1 point



24.

e3¢J,,7° N T e, (General molecular formula of alkynes) *

Mark only one oval.

1 point

Cn H2n+2

Cn H2n—2

Q Option 1

C) Option 2

CnHzn

C?_n H2n+2

() option 3

() Option 4



25. R Beesd e’ NY Toades; vewied, (General molecular formula of

cycloalkanes) *

Mark only one oval.

1 point

Cn H2n+2

Cn Hzn-z

() option1

Q Option 2

CnHzn

CE n H 2n+2

@ Option 3

26. CHs;OH, C;HsOH, CsH-OH,

Mark only one oval.

() C4HsOH
() CaHsOH
() CiHsCHO
() C4HsCOOH

O Option 4

B8 93P T)eedrt FedDHE Boatwd (CHsOH, 1 point
C:HsOH, C:H-,OH, ......... compound belongs to this homologous series is ) *



27. 'oDTes T)esny ﬁdﬁéd N &SN mdmdé dzsa?z@ (Common difference 1 point

between members of homologous series is) *

Mark only one oval.

-CH:
-CH
-CH4
-C:H-

28. 8 BYNIYINYY ev3, Beea500rt 2,00 eLTeETE (This is an example for 1 point
oxidizing agent) *

Mark only one oval.

IJBadbo (Palladium)
~38,e* (Nickle)
5&1@%66‘ &) (Sulphuric acid)

escheod @pesydobo B 8rehees (Acidic potassium dichromate)

29. QedR NBHBIB, 5oTesm0T epedead o) (Metallic ions causes 1 point
hardness of water) *

Mark only one oval.

JeeBadbo ) Bpezgdabo (sodium and potassium)
B9e0, T ) wdeed e (Chloride and bromide)
59,0 0do SR ehfedabo (Calcium and magnesium)
3Rt DR e9deedF (Bromine and iodine)



30. BoRer’ S wewRe3, (Molecular formula of benzene) * 1 point
Mark only one oval.

CsHi2
CeHs
CeH
CsHs



R 0D-5: TIRNMY BB 0D DNeFBTE
Chapter-5: Periodic Classification of
Elements

& sod, FZFsd (Multiple Choice Questions)
* Required

FecoUSab DR
(First Round)

1. 3B® ALDIY, FTDIT 53 (Scientist who proposed law of triads) * 1 point
Mark only one oval.

D Seswaot¥, (Newland)
D dpend;Bo° (Dobereiner)
() Dorddes (Mendeléev)
() Sogder (Mendal)

2. DoBdex’ 03T BS3eB Boew 3 OR), BOWTLVINYRY, BoOT (How many 1 point
vertical lines are there in Mendaleev's periodic table?) *

Mark only one oval.



3. BINSYNYY wodde Bedad Mesvgen¥s) BeodTE X0eld Foniwd ayeda?Na, 1 point
Mg, Al, Si, P, S, K, Cl (Which elements have same characteristics among Na,
Mg, Al, Si, P, S, K, Cl elements? *

Mark only one oval.

P &Cl
Al & Si
Na & K
S & Mg

4. BINIYNYY 08 TS vedpebead MESI, BeoLDS oz (Which one has 1 point
more non-metallic property?) *

Mark only one oval.

RROF (Fluorine)
sd»° (Oxygen)
®,drewx’ (Hydrogen)
3¢ (Chlorine)

5. BYNS poai¥s, vIn deedead red 03 D3O w3dd. Mg, Ca, k, Ge, 1 point
Ga (Write the following elements in the increasing order of their metallic
character. Mg, Ca, k, Ge, Ga) *

Mark only one oval.

Ca<Mg<Ge<Ga<K
Ge<K<Ga<Mg<Ca
Ge<Ga<K<Ca<Mg
Ge<Ga<Mg<Ca<K



6. BY BRI DT BeRZod 8E08 et X R Y oy S0arecw 3~ 1 point
BReDI FOWOT HVBTSIY B8O WAV (a) X ToB) 12 TBpee3ox* DR 12
V59, BoBT. (b) Y Zo@) 12 Fpeeson’ D) 10 af59 &F @pod3. (Two
statements are given. Compare atomic radii of elements X and Y and
choose the correct answer. (a) X element has 12 protons and 12 electrons.
(b) Y element has 12 protons and 10 electrons.) *

Mark only one oval.

Y @dabetw 3y X No3 3B (Atomic radius of Y is smaller than X)
X S0gretw 3 Y Nod 38D (Atomic radius of X is smaller than Y)
Y @) X ¥ Soarecw 3y I (Atomic radius of Y and X are equal.)
re)@e e (None of the above)

7. "X @@ 143 oSO @BITen, votzrhd Socdndad e sed? (Name 1 point
the compound obtained when X' element has kept in 14th group.) *

Mark only one oval.

XCl»
XCls
XCl

XCls

8. DoBOe AT OB-ADZF ﬁfamedécscﬁv R Bexd? (What is the formula of 1 point
Eka-silicon chloride which was predicted by Mendaleev?) *

Mark only one oval.

GeCls
GeCls
GeCl

GaCls



9. 201 PRI @da&ya‘ Qmﬁ@ 2, 8, 3 833 BT BT 0ED ﬁosa"as om)? 1 point
(Electron distribution of a element is 2, 8, 3. What is the atomic number of
that element?) *

Mark only one oval.

C )13
C )10
(C )s
)3

10. 20D ToRY) BT3¢ Bpew BT 33e BITIE Torte 2:33€ Mo FeDIBT. ToMeBT 1 point
OBTODS SeeJF, f&d&ya‘ n¥ Josd; (A element belongs to 3rd period and
2nd group. How many valence electrons are there?) *

Mark only one oval.

QTBI D DI
(Second round)

11, M. M) N i wodde 8x3e8, FeOr) FadzeN 1) 2 e rbodrt 1 point
JeDIS. PN Bped, T NY DoeodhIB twed) (M and N elements belong
to 1st and 2nd group of same period. Then the molecular fomula of their
chlorides are) *

Mark only one oval.

() MCl, Mcl
() MCl,, MCl.
() Mcl, MCl
() Mcl, Mmcl



12.

13.

14.

A @3) B Soarecnnty?! 2359, 2 IR ZabeeN(2, 8, 8, 1) marte (2, 7) 8NE. 1 point
oY) ox e 8333, Feh3a3. (Electronic configuration of A and B elements
are (2, 8, 8, 1) and (2, 7) respectively. The periods of these elements are *

Mark only one oval.

123 7 Se es33¢ (1st and 7th Period)
2 DR 4 Je e833¢ (2nd and 4th Period)
4 D) 2 Je es33¢ (4th and 2nd Period)
2 D3 7 Je es33¢ (2nd and 7th Period)

B AeBDB FoBNYY 303 Fed), AT Feod Fo wregydy? (From the 1 point
following elements, which one has more electro-positive character?)Li, F,
Na, Al, CI, K, Ca *

Mark only one oval.

Li
Na
Cl
K

A, B 33 C oz soareen Soadadn ZbhezeN 9, 12 aha) 17 8. 85 Swedd 1 point
ToRNPY Ao FRNW worde SINES, TeDHSI. (Atomic numbers of

elements A, B and C are 9, 12 and 17 respectively. Which elements belongs

to same group? *

Mark only one oval.

A&C
B&C
A&B
B&A



15. 2,8,6 ‘32&5’2'5‘%)5‘ cl’)ma@ BRODDT FoRIS B ? (Name the element which 1 point
has electron distribution 2, 8, 6.) *

Mark only one oval.

oedado (Helium)
BSowex® (Carbon)
es3 3x° (Oxygen)
nog@d3 (Sulphur)

16.  "X" 2o o) 15 e rhoy) Terte 33e 8333, FeDIT. 9GET @da;g)a‘ AT 1 point
w3ALd. (‘X' element belongs to 3rd period and 15th group. Write its
electron configuration.) *

Mark only one oval.

2,8,7
2,8,5
2,8,6
2,8,8



1 point

3PN Do, PoBNY TTNTeEW R0F.0DW

3
=

L

BN T. wRINTI,
:"mlcjaj'—'- - .?,‘s"d = eh= —'ajadr.-m *.cﬁ'.ﬁ‘*'\
WO0WWioy Nwall Ye¥T T & WOLL

Four elements and their atomic numbers are given. Write the descending

order of their atomic size)

o= (Element) | =. mos3, (Atomic Number)
A 16
B 11
C 03
D 14

Mark only one oval.

B>C>D>A
B>A>D>C
D>B>A>C

A>D>B>C

QeBDE FoRNY IOWT BTBreew FoBed WTAD. Spe3gdabo, Fredado, 1 point
33, 3%, (Write the atomic symbols of potassium, sodium, gold and silver.)

*

Mark only one oval.

P, N, Ga, At
Pb, Na, Au, Ag
K, Na, Au, Ag

Kr, Ne, Au, Ag



19.

20.

A, B @) C g Beed;80° S §Zenw. A 23y C podiny S0ayeew 0o 1 point
B3 D@eN 6.9 DA 39.1 883 B podny sdxvecw o (A, Band C are

Dobereiner's triads. Atomic masses of elements A and C are 6.9 and 39.1.
calculate the atomic mass of element B.) *

Mark only one oval.

()25
()46
()23
()28

8 FYNSYYY adredm Ay "weddris! rearisd eYry Bvareew Josdod 1 point
BBBEAL0D YTTBBERINW" 20D B,3weBDBA. (Which of the following

rule states that ‘Properties of elements are a periodic function of their

atomic number.’) *

Mark only one oval.

D) @dpend; 80N 39 Jabad (Dobereiner’s law of Triads)

Q ~iR09;08 BT F3NY dobad (Newlands’ Law of Octaves)

() DoBdOeTIT 33363 Aabad (Mendeleev's Period Law)

D B) SReFaHTT BB 8333 Jabad (Moseley's Modern Periodic Law)

BwesFad DI
(Third round)



21, "X ©o@ "XCL." 1p3) B oD 8eT;B, YVoLDTIIDST. ATPOW) &N 1 point
BV 3 BOMHS Do BeodT. "X" BN 83 B0ty 3BO 85 PRI SMES,
3e03. (X' element forms a molecule having molecular formula XCl.. This is
a solid and has high melting point. Identify the element 'X".) *

Mark only one oval.

Na
Mg
Al
Si

22, 2nYQ odyedd rHodS STBew J0sEMH 2,083¢ OIS TIBDNYRY, 1 point
333 (From the following, which elements belong to same group? *

Mark only one oval.

11,19
6,12
4,12
8,17

23.  4Be, sF, 11Na, 14Si, 19K & 20Ca ¥ BRI 8T3¢ Epew BT SO TR, 1 point
QIYNPY WD TN 8303 TPTEIWBO 0T fad&yd@( ®Po1. (These
are elements of modern periodic table. Which elements has only one
electron in outermost orbital?) *

Mark only one oval.

sBe & 14Si
uNa & 1K
oF & 20Ca

4Be & »Ca



24.  oUBSe 8336 HoRY B0etw BT I0B &3 b (Ascending order 1 point
of atomic radii of elements of 2nd period) *

Mark only one oval.

B<Be<O<Nx<Li<C
C<Li<N<O<Be<B
O<N<C<B<BexLi

C<Li<O<N<Be<B

25. ReeBabo podd) Jedd Snf D) 8B3¢ (Period and group number of 1 point
sodium element is) *

Mark only one oval.

1,3
2,4
1,2

1,4



eﬂméoi)—é: 2ex33,00nw Chapter-6: Life
Processes

& esod, FZrd (Multiple Choice Questions)
* Required

BpdOIad ) (First Round)

1. SIS Toreedse BB F0RVDE BBFRINLTT Bo0RIT0I SO 1 point
esody, (Correct choice for arteries found in the human circulatory system) *

Mark only one oval.

() 2 3803 3373a38 Db BeodR) 387 Bed), wBBBY ©erb33. (These have a

4]

thick elastic wall and the blood flows under high pressure.)

() 7e9nY DAy Bw@eNd) 838y 88D w33 merd3d. (The walls of the veins are thin
and blood flows under low pressure.)

() mo¥n¥ D3y 3eeNd) 388 Bed), 2383 @erd33 . (The walls of the veins are thin
and blood flows under high pressure.)

() 2 88708 3373a8 Db BeodR) 337 3B w3BBY Terb33. (These have a

4]

thick elastic wall and the blood flows under low pressure.)

2. 552563 3eHriwd 8 &0hod Sweerd edosd &)edd& &e0BRR),3I. (The plant roots 1 point
absorb water from the soil through this process.) *

Mark only one oval.

() oo (Diffusion)

D) Wi Az (Transpiration)
@ 90338 (Osmosis)

() aomyde @e (None of the above)



3. d)RbaédQ, 03303 Temeesd o)) SpBNBR0BDLT @Ri@(od) 3& (In humans, itis 1 point
another fluid that is involved in transportation like blood) *

Mark only one oval.

dhBed R (Platelets)
0¥ 3338e (White blood cells)
@383 (Lymph)

@99, (Plasma)

4. S5y e Weried) VB3 SN T e, ;~ee B, ©Tes DI LTI 1 point
DH&0ed3 SreD3T. (Which part of the nephron that reabsorbs useful
substances such as amino acid, salt and water.) *

Mark only one oval.

DDYe5e33 ~e%? (Tubular part)
Mabhe* (Glomerulus)

PDI S Bred (Bowman's capsule)

-

Jory®38 Je% (Collecting duct)

5. BYNIINYO 3o B TeW3. (False statement in the following.) * 1 point
Mark only one oval.

BRRTB Co3 T3 WOB)S, 663, FNTL,BD3BT. (De-oxygenated blood is transported to
the right atrium.)

08003 ZowER’ B~ 83,7 STITDTIBED Sowe -3~ 83,7 I3 0B D9, B30T,
3enz3ed. (To remove carbon dioxide from the blood, carbon-dioxide rich blood must
reach the lungs.)

Q)’dﬁé S AAINIQEES) ebcg d§dﬁg( deﬁdmvéé Boa* S3eD3A. (The pulmonary arteries
pump pure blood into the body.)

moaﬁkmé) 3glaplg 88{\)&5‘ &3 33 Beadod @déé WDH3E. (When the right ventricle
is enlarged, the de-oxygenated blood comes from the body.)



6.

I, BedBO eI SrichEeod BOWred Srerie adyexdw? (which of the 1 point
following is the correct path taken by urine in our body?) *

Mark only one oval.

B103)H08 — RWBTe¥ — BWB)We,3 — Jwe3Beed (kidney — ureter — urethra —
bladder)

B 308 — RT)BEee3 — RB)We,8 — RweBeY (kidney — bladder — urethra —
ureter)

S1eB)d0B — RWFTe¥ — B Beed — SueI)we,3 (kidney — ureter — bladder —
urethra)

BB Bee38 — T)doB — BwFTe¥ — SweI)we,3 (bladder — kidney — ureter —
urethra)

0droE BZReYR) T9,3BeeBD0T DY TZBY, BB, SHBT? (which vein brings 1 point
clean blood from the lungs into the heart?) *

Mark only one oval.

Bwe3) 08 NFRA (renal vein)
QB3 DFRA (pulmonary vein)
VB T3 IFRA (pulmonary artery)

DTIBF (Aorta)

SIMPO Fpeodadr ©oneodsy) /WS Terisrt 59860NS (The phloem tissue in - 1 point
plants is responsible for the transport of) *

Mark only one oval.

edd (Water)

e DA uBes (Water and minerals)
rbBeexf (Glucose)

aoZe (All)



9. & 3YNIIYNY abroIB3, Fwed Feesny B)BLAIT? (Which of the following 1 point
has a three-chambered heart?) *

Mark only one oval.

() =20=9% (Pigeon)
() &9 (Lizard)
() Qveab (Fish)
() &ow (Lion)

10.  B3B20bNYRY eLoedeS 883 &3 (The component of blood which 1 point
makes chemicals known as antibodies is) *

Mark only one oval.

() shaeinw (Platelets)
() 29 o88mnw (White blood cells)
() 3om d8nw (Red blood cells)

D) @9, (Plasma)

11, S0BeedsSa SHab3EY &)Babde ¥t 058 &en, 2 OB, 3B arexhcd? 1 point
(What prevents the backflow of blood inside the heart during
contraction?) *

Mark only one oval.

() B@,30b moaunty 88 rteednw (thick muscular walls of ventricles)
() 3eunw (valves)
() 88,6¢3 Swed rteedniwd (thin walls of atria)

() ogge (All



12, @R ITRED FBI DO ITRED LTI, HI0W 5CDIHIT (The 1 point
excretory unit in the human excretory system is called) *

Mark only one oval.

S (nephron)
0o’ (neuron)
SweBne¥ (ureter)
Sw3Bee3d (bladder)

13.  SF9fR Bpvdad IO 053 53, 00NYY D ©edZRH T S (The 1 point
substance which is not reabsorbed into the blood capillaries surrounding
the tubule of a nephron is) *

Mark only one oval.

rbdeex* (Glucose)
wh,;Ree esa) (Amino acid)
dwedadre (Urea)

e (Water)

14, T9,300ANTY JedD) QBT [WVB JToMeeddodrordSa. (In autotrophs, water is 1 point
transported through) *

Mark only one oval.

e (Root)
gpeodo (Phloem)
83,803, (Stomata)

3 ;00 (Xylem)



15, IIJNW S92 SeFENYRY, BRTHIBLD WD TSN aed)y? (What are 1 point
the methods that plants use to excrete of waste materials?) *

Mark only one oval.
SNRYY T2 SWIFENW S4B 2INYY Jor@ezeN adfnwd evthdBeerd3s. (Waste
material in plants accumulates in mature leaves and falls off)

£90£3), TOBNPOBD By DTOTEMR dohm”d éNijIAEe)orWQ JordeN 9y 333@
&oi)sdr\i& d@ﬁéﬁm@xb§d (Waste materials, such as glue and resin, accumulate in the
aged xylem and they stop to function.)

OIe8 B SN WYY Beor) ST Sory@aerd3as. (Many plant wastes are

stored in their vacuoles.)

aeIe (All)

16. TBme¥n¥ IFNW (Types of blood vessels) * 1 point
Mark only one oval.

BFANR (Arteries)
DTN (Veins)
edrexdrernsd (Capillaries)
aeIe (All)

17. O3 o)) Ie0d e a 833 ¢33 (The unit helps in clotting of blood) * 1 point
Mark only one oval.

dDh3e3nw (Platelets)
DQ 338ei%d (White blood cells)
Box) 33w (Red blood cells)

@9, (Plasma)



18. 8RR IB0L3 BT, BYBHDTW T9,380e33, Bo) et Bees (The 1 point
chamber which anaerobic blood is pumped from the heart into the lungs)

*

Mark only one oval.

oB®)3,or (Left atrium)
oBd®)3),.3 (Left ventricle)
woBy3 e (Right atrium)

wo®yA),3 (Right ventricle)

19.  eadoRQ 8HeT BT et Sdh. (The movement of food in phloem is 1 point
called:) *

Mark only one oval.

o8 IR (transpiration)
SR)@e03Tes (translocation)
eudTee3 (respiration)

€3c)33¢s (evaporation)

20. =BahLOT eIy ennert d§6&d BOR) BB BBeY (A blood vessel which 1 point
pumps the blood from the heart to the entire body) *

Mark only one oval.

TP (artery)

edeexdeed (capillary)
P (Vein)
bedeertneddx* (Haemoglobin)



L01-7: JODOT)E DR IHINS,
Chapter-7: Control and Coordination

& esod, FZrd (Multiple Choice Questions)
* Required

SesoIab DA (First
Round)

1. Qeadrerenny sL3 B Sdeahdwmed r0d (The gland that produces sperms 1 point
is) *

Mark only one oval.

() oee3d (Pituitary)
() wome3ad (Ovary)
() o&zeF (Adrenal)
D) Sy:¢ea (Testis)

2. QDR u%obxig( 333 Bedd &ert (The part of the human body that 1 point
protects spinal cord is) *

Mark only one oval.

D) @3, (Stomach)
() 8zew (Skull)
() By awev (Backbone)

() oBnred (Ribs)



3.

4.

BINS Sew’ B3,B0g N BB0hen B3B8 Todeeea* (The plant hormone 1 point
responsible for opening of stomata in morning time is) *

Mark only one oval.

@3 (Auxin)

&%) 0° OxF (Gibberellin)
) A% e (Abscisic acid)
&, tdeed,AxF (Cytokinin)

3 ;0000 TF 73,00MR FDTEBroN Fo0DE JTE DT @dziésmd 2Peaz003 (The 1 point
nutrient necessary for the proper functioning of thyroid gland is) *

Mark only one oval.

e9adeedsF (lodine)
59,0 ado (Calcium)
3 e (Iron)

Spezysdabo (Potassium)

200 S0EREBT B85y 7 3 DY DR DAL 0W) JTEeeIT BoT, L3 NY SBI Bgy 1 point
Jwe3zed (A small gap between the tip of the axon of one neuron and the
dendrite of another neuron is) *

Mark only one oval.

S3deed (Nerve cell)
Joxne (Synapse)
Bod, e (Dendrite)

859 7F (Axon)



6.

7.

B9 Bt DI Bed 0 BUISSe B o ® IO eyeriniwd (Find the correct 1 point
group of parts of the reflex arc in the list given below) *

Mark only one oval.
Me,®3, DBFR, g@dm& JBZee3, 3 abomed IBZee3, Bvabedmormd (Receptors,
artery, relay neuron, motor neuron, effector)

Mo,®3, @émao J0BReB, [0WOR 6&2(\*’05 NTBee3, &airomed SCERB, Fo0NFATIEDS
(Receptors, sensory neuron, relay neuron, motor neuron, effector)

MyB3, DT, F20DE AT B3, &0iTemed FT, Lowed STZeeB (Receptor, artery, relay
neuron, motor neuron, effector)

IDBPRA), RPN, g@dmao SBBee3, & abomed STBRe3, Zaohedmer®m3 (Aorta, artery,
relay neuron, motor neuron, effector)

edR I3, B33 0hodroN FTY T eI AedS BB L3w0dwe AT @reS (The 1 point
phenomenon of growth of roots of the plants towards water is) *

Mark only one oval.

BeIDI3eN (Hydrotropism)

w3 oDBBeS (Phototropism)
00000 T3S (Chemotropism)
@y, I3eS (Phototropism)

SINL BB, MmN 5203T DOADRY, BecdBpednwd svgea Jvodey 1 point
LB BIT Tedees* (The plant hormone responsible for the growth of
the cells of shoot tip when the light is absorbed by plants is) *

Mark only one oval.

&3 &° (Auxin)
&%) 0° OxF (Gibberellin)
o) % ) (Abscisic acid)

0, e30e8,A=* (Cytokinin)



9. U33Q I3,Tab De3R) IDBeVITODT0Z JohoBa Hedeerx® (The 1 point
hormone that controls the blood sugar level is) *

Mark only one oval.

D) axb OxF (Insulin)

() o8I0 (Adrenalin)
D) 3,003 (Thyroxin)
() sscin,ea (Oestrogen)

10. 0308 BpT3on TedBY) B SodeS LVOEIMHBT (Deficiency of iodine 1 point
will cause this in the body) *

Mark only one oval.

() 230230 (Beri beri)

() n¥noa (Goitre)
D S0,z (Marasmus)

() atvwd 2dd (Night blindness)

o3BdIad DI (Second
Round)

11. TeeBeBZo0NR) B8 TodPee eﬂxig( DDNAE FeDI3. (Pancreas releases 1 point
following hormone) *

Mark only one oval.

@ axh OxF Sye3@) (Only Insulin)

() rodmes* e, (Only Glucagon)

() am) OFF abd) s odade, (Both insulin and glucagon)
() 2edI aroxide o (None of the above)



12, SoISTBQ B0@3B Tedeerx* (The hormone not found in human beings is) 1 point

*

Mark only one oval.

3,003 = (Thyroxin)
axh OxF (Insulin)
B0, e’ (Oestrogen)

&, tdeed,AxF (Cytokinin)

13.  adndY S0ed HePd (1) SOITBOS o &30l STeI3E3 1 point
3,000350N3. (2) goSTed FTBReBNH LR YA0T T adwriPrt Sowsed
TBDoABS. (3) Godromedo STBRLBNW M BBR0T LDRWET Boded
B dDIE. (4) MydBD0T T9,08w BTe T0BRLTT SoweBNW Hord Beerdd
Sne B, BSOS 3 3@ o Bed. [Which of the following statements are
true? (1) Sudden action in response something in the environment is called
reflex action. (2) Sensory neurons carry signals form spinal cord to
muscles. (3) Motor neurons carry signals form receptors to spinal cord. (4)

The path through which signals are transmitted from a receptor to muscle
or a gland is called reflex arc.] *

Mark only one oval.

(1) &2 (2) [(1) and (2)]
(1) @ (3) [(1) and (3)]
(1) @2 (4) [(1) and (4)]
(1), (2) 3 (3) [(1), (2) and (3)]



14.

15.

BOBTODTO V03NS B3%3 WBUITBAV FoTamed ) (Dramatic 1 point
changes of body features associated with puberty are mainly because of
the secretion of) *

Mark only one oval.
D) B)RED0T SR, R D) WoweBaLROT IR Lo’ (Oestrogen from testes and

testosterone from ovary)

() 0B Sef oddhod Sixie ean D) deaytsd roddbod eeedeoss (Oestrogen from
adrenal gland and testosterone form pituitary gland)

() 3)Bebos g e eoon* ) ©oma3abBor Sixie,eaF (Testosterone from thyroid
gland and oestrogen from pituitary gland)

() B,005 R0BM0T et edeoont ) deaesd MoBdon Sixin, earF (Testosterone
from thyroid gland and oestrogen from pituitary gland)

38, 80H08® SIS BieeB3I0weN BTNMIVS0d 0EetnIITET 3PSt 1 point
BRODIT. Wd B BYNT 0dreRB3, esvmeddmaireNd? (The growth of pollen

tube towards the ovule caused by sugary substance as stimulus is an

example of) *

Mark only one oval.

() weeadases (Hydrotropism)
D) w3 DBBeS (Phototropism)
() 0omaaddB eb33e (Chemotropism)

D) Ty, I3eS (Phototropism)

SwdJab D3 (Third
Round)



16.  SIII LTI B8 enid) BoDwdhIRe. (This part is not present in 1 point
human brain.) *

Mark only one oval.

Bweo (Skull)

SR, (Cerebrum)

QD0 %, (Spinal cord)

QR Yannye Bod33. (All parts are present)

17. o338 LDOR BB esedpeadne ot advexld)d? (Which is the main thinking 1 point
part of the brain?) *

Mark only one oval.

S, D0 (Fore brain)
g LD (Mid brain)
&, %0 (Hind brain)

@, w3pegeecda’ (Hypothalamus)

18. 2 SweH,DW Tore Hed, DN JeSahod SSFrWIT. (This acts as bridge 1 point
in between fore brain and hind brain) *

Mark only one oval.

DDRE, (Spinal cord)
B, (Cerebellum)
DG heded (Mid brain)
Beweo (Skull)



19.

20.

B ;PPN Iy B as‘aoi)?daig( QAobod3A. (This function is controlled 1 point

by hypothalamus) *
Mark only one oval.

3, (Sleeping)

85203 e3ed (Necessity of food)
239035003 (Thirst)

2ed aee (All of the above)

033 w33, 590305rHIB D) 270HO JeTRDLYHWD 30DMPRY Aobod)Des
RPN 3ot (The part brain which controls the functions of blood
pressure, vomiting and salivation) *

Mark only one oval.

@, (Pons)
Doy (Medulla)
b, (Cerebellum)

@A, (Cerebrum)

1 point



59,0D-8: BedNw Tert Sozadeed S
SBD3D Chapter-8: How do Organisms
Reproduce

w® sl BZ % (Multiple Choice Questions)
* Required

SpcuIad DI
(First Round)

1. DeRnvYR suB S erE ToDFE BYDER0BDS IJ;NY rhozy (A group of 1 point
plants that have lost their ability to produce seeds) *

Mark only one oval.

Q SO, rhere), we¥ (jasmine, rose, banana)

@ 3o, ®&3, we¥’ (coconut, areca nut, banana)
@ Zey, 338, =ri (corn, fox tail millet, drum stick)
() rbered, Borb, O (rose, coconut, jasmine)

2. Tozodeed 30dw Bednort ef)a?zsaiz%s. &3033 (Reproduction is essential for 1 point
living organisms in order to) *

Mark only one oval.

() Bedad ernwd Bexdo3maN3en (Keep the individual organ alive)
@ eInd 3dab @pd,;3meN (Fulfil their energy requirements)

() B¥48e3rimon (Maintain growth)

C) 32333 BworhBd3reN (Continue the species for ever)



3. B BINIYINYO AroYD oSSV (‘g)e Sozedeed & SEa wenadw? (Which of 1 point
the following is not a part of the female reproductive system in human
beings?) *

Mark only one oval.

©omedad (Ovary)
needeed (Uterus)
QeadE % (Vas deferens)

©oB~e% (Oviducts)

4. ;0N38 TozBrDoT BB deent (Which of the following is not a sexually 1 point
transmitted disease?) *

Mark only one oval.

reldeedadye (Gonorrhoea)
eJedadre (Malaria)
QDO (Syphilis)

o, (AIDS)

5. J;0NzmeN WS Teendord Sdobrh S Melrddeedd dues (Which of 1 point
the following method of contraception protects a person from acquiring
sexually transmitted diseases?) *

Mark only one oval.

332383, (Surgery)
Sox0'-€3 (Copper T)
seoreex*(Condom)
Se3)rixv (Oral pills)



6.

orF Rpeodrt sa0tmed e (AIDS infection is caused by) * 1 point
Mark only one oval.

apeedpednee (A protozoan)
30e03) (A fungus)

9 3edalre (A bacterium)
3,0 (A virus)

BRAVDS I D) SIS FoTrdee3 8 BB OBTUR S0 2,083 1 point
B30 ont (Which of the following named organ occurs both in the
reproductive systems of flowering plants as well as in humans?) *

Mark only one oval.

Qead¥ ~o% (Vas deferens)
3e33 (Anther)

eowe3ad (Ovary)

Bz I93 (Style)

BRYNEN ToWoRDAIToB OB Hewd (True statement about the flower is) * 1 point
Mark only one oval.

Qw9 BRJNW B,O0ARwNS. (Flowers are always bisexual)

BRAJYNWD Jozadeed Sob worind deod33. (They contain sexual reproductive
organs)

QU B3eBB IZM BeDDIEI. (They are produced by all groups of plants)

0300N BRZYNYY I,3ecd BoNR Brd)od SBAwS3. (After fertilisation they will fall
off.)



9. 3y su3d daired PR BWBFNYW Sodh0d BB, Srer AT VOBSESI 1 point
et Aredd? (Name the part through which wastes transferred to mother’s
blood from developing embryo.) *

Mark only one oval.

D) @ajoe3e (Placenta)
D) ®By30d (Heart)
() 3wa30gd (Kidney)
() =33 (Stomach)

10. ) Sodeesr BeBTBIoDRY, TeoDDS BedNFY Sozodeed 3 @adrf a1 point
Jzexaad (What are the salient features present in reproductive process of
advanced organism with reference to anatomy?) *

Mark only one oval.

() Rozorteed 3rf A3a wonnv Beodhds. (Have specialized organs for
reproduction)

Q 8 onnisd Oometuniva, ovd 8 Srewdass. (These organs produce gamete)

() Sormeennwd ABesR 8p08 adburt, 2N B Bedalah B3aindd. (Fertilisation of
these gametes produce a zygote, which further develops into new organism)

() 2ed awae (All of the above)

STBF D A
(Second Round)




1. &,0N3 JoxserdoT riad&‘mdﬁz?ojoaig( BBVS AFINTo)? (What are the 1 point
different methods of contraception?) *

Mark only one oval.
BoBRerPRYRY TDEReOT VDS B3NV, SrhBePd. (Taking pills that
imbalance hormones)

D03 DD FoBT° £3 DO édoimg( neeBreddp ¥ SeODID. (Insertion of a barrier
called wonky or copper T into the uterus)

23@:;%,033053 Swe03 ANV WBDe WoBRYSE, B3 HLoLDITDID. (Interrupting the
sperm or ovary through surgery.)

edT auZe (All of the above)

12, deddrored Tonsn YIS JoSodees 3 dédﬁ@ob@m TN oy VO3 1 point
382 (The correct sequence of organs in the male reproductive system
for the transport of sperm is) *

Mark only one oval.

SyRe) — Jeobrmey — BT (testis — vas deferens — urethra)
DyRE) — W TY — [T (testis — ureter — urethra)
SR — SWZ 9,8 — JweZ e (testis — urethra — ureter)

SyRed — deabeTey — RweB)DeY (testis — vas deferens — ureter)

13. SIS YDATY, 3@t BFeds BTN S)@edeBODSS. ©B0WT BB, 1 point
JBeod S1eD3A (In human males, the testes lie in the scrotum outside the
body because it helps in the) *

Mark only one oval.

Qdeadrerennty sdeerid, (health of sperms)
Qeadrerenntd evd 8t (formation of sperms)

Qeadros ey Toreeddr (transfer of sperms)
deadroreny ded) Joad s (More number of sperms)



14, Fpeasdod 23, 9rt MHwZHnw ats dwwosd dnerdnadrerdad (The 1 point
characteristics transmitted from parents to offspring are present in) *

Mark only one oval.

3 ednexinedr (Ribosome)
3pe3d;s; (Cytoplasm)
metde Jodeesr (Golgi bodies)

SoBTed (Gene)

15. SpIddedaivmen 3ed ortcen LYadneas Dedd eyor (the part of a seed 1 point
which grows and develops into root on germination is) *

Mark only one oval.

exdY (cotyledon)
BB Se0@ (plumule)
BB e (radicle)
23e0S Bedew (Root hair)

16.  deadyorew A omtNY Boadeen @eoda 3ad (The process of 1 point
combining sperm and ovum) *

Mark only one oval.

adwries (Zygote)
ATedS (Fertilization)
Joadeenrt (Combination)
Jodw (Addition)



17, e0drofed DR ©0BENW Bodeen BeoDTW S0BT VOIS BA 2eSZeeB 1 point
(The new cell formed after fusion of male and female gamete) *

Mark only one oval.

adwri,e (Zygote)
T3 (Fertilization)
Toadeert (Combination)

Jodo (Addition)

18.  Ideod Soenix Be 300abe (During self pollination) * 1 point
Mark only one oval.
DOINR) 23T BRI 'eimamrj,ddg( Bewm)33. (Transfer of pollen to the stigma of

another flower)

SO B BRI BUeserSY, SwBA. (Transfer of pollen to the stigma of same
flower)

B0 WTSe BRI oweBabaD, BB, (Transfer of pollen to the ovary of same
flower)

B0 ed BRI BomeBahaRY Bewm)B3. (Transfer of pollens to the ovary of
another flower)

19. 8D aeob?daﬁg( DOYTN ToNTLD D) BT Spewssrt eﬂﬁéasand 1 point
SANYIY, FIDIBS. (These parts secrete substances, which are essential
for the transport and nourishment of sperm) *

Mark only one oval.

QeadEme® & JeadeBdeedd (Vas deferens & seminal vesicle)
Qeadrdeedd D) Bpes e ol (Seminal vesicle & prostrate gland)
Qeobemey D) Bpes e rod (vas deferens & prostrate gland)

@Bpesees hod e, (Only prostrate gland)



20.

ARINYO BRI By ToSodeed 3ob 23m; ) Beeser), V) BCNIES, Q)
©o@e3ad), &) Bes3¥S [Among these, female reproductive part of flowers
A) Stigma, B) Pollen tube, C) Ovary, D) Style ] *

Mark only one oval.

@), D) DR D) S93, [ A), B) and C) only |

?), d) DR &) J593, [ A), C) and D) only ]

), D), J) DR &) 20 [ A), B), C) and D) all ]
Q) DD &) 93, [ A) and D) only ]

1 point



©L01-9: BT03LADT DR VeDITIR
Chapter-9: Heredity and Evolution

& esod, FZrd (Multiple Choice Questions)
* Required

SedoIab DI (First
Round)

1. 8 3INIYNYY LeSIZIT Ty ZeeS00T SJoFSD Fed), Fo0BIDHITD (In 1 point
evolutionary terms, human beings have more in common with) *

Mark only one oval.

@ 2y, 23ede Zowe ew3 (A Chinese school boy)
() 2o 20202 (A chimpanzee)

() %ot 22ed (A spider)

() womd waBedair (A bacteria)

2. ReSNT3 Sweweded Ig0drt Joserieed 3od JSSHoDTY RBTY evoL3arda 1 point
WBUIBNY S93¢6 (The basic event in evolution during reproduction is) *

Mark only one oval.

D) ©0onRPe eVoFINDS WBUSBEHNRW (Changes in organs)

C) Re3Bee3BY Buot3erd wdUesBriw (Changes in cells)

() 8.orF.0 obd) evotsrdad wdwesBnw (Changes in DNA)

@ ONZREBBO HVOEINDE WBTOTHENRR (Changes in organ system)



3.

4.

5.

6.

3 eee0f 8 3YNI Jried, Jed3d. (Dinosaurs belong to the class) * 1 point
Mark only one oval.

20ey@rLL (Reptiles)
B3gn%L (Birds)

I (Mammals)
gv3adednid (Amphibians)

8 BYNT AT, SowerF Beedort Ao WY BoddBabeerdadd? (Carbon 1 point
dating is useful to find the) *

Mark only one oval.

BYAVPS T3S (Structure of fossils)

BYAPINY saba) (Age of fossils)

BYBLBRYODS Sowea’ 803 (Carbon content in the fossils)
BTR3NS evnad (Origin of fossils)

B3N 3Rd onniert sume®dEs (An example for homologous organ is) * 1 point
Mark only one oval.

W30 D) B3, 0b 33, (Wing of bat and bird)

SRS D) B3, 0 3eyeniwd (Embryos of man and bird)

3TeDB D) 8BTLDINY BFBEBRL (Fossils of vertebrates and invertebrates)
o33 @) B3, 0b Sworreenrisd (Forelimbs of man and bird)

AR Don) AFrOT DI (Sex of a child will be determined by) * 1 point
Mark only one oval.

30T X SEB0AN0T (X chromosome of father)

Sodhad X See30BA0T (X chromosome of mother)

Bodad Y SeaeBoBN0T3 (Y chromosome of father)

BB @) Todbd SerBo@riPor (Chromosomes of both father and mother)



7. HB3BPeBTET F2 dedriod &30 odmed (The phenotypic ratio in F2 1 point
generation in monohybrid cross experiment is) *

Mark only one oval.

1:2:1

3
2:1:1
1:3

8. DoBef TBD S, FodeeniniVrt 80IZe0B IZN (The plants selected by 1 point
Mendel for his experiment are) *

Mark only one oval.

BID Se%0 (Green gram)
302l DOt (Evening primerose)
et (Beans)

weFeed (Peas)

9. 3@9&%@5 >3 ® (The father of Genetics is) * 1 point
Mark only one oval.

r}iof Sodef (Gregor Mendel)
e £ adea’ (Charles Darwin)
B’ $,5° SaF (August Weismann)

LIz (Lamarck)



10.

11.

12.

Bede IS0, T3 D) IS0 0T (The continent of origin of 1 point
the Homo sapiens genus) *

Mark only one oval.

() exedsz» (America)
() s (Africa)

D) oy (Asia)
() odwedees (Europe)

odadIab R (Second
Round)

DIVIS ) 3030w z%edémezid@mdm Oon IRF3B0ANS 503625 (The number of 1 point
sex chromosomes in each cell of a human) *

Mark only one oval.

) as
()22
() 232203 (23 pairs)

C )2

0B TID HBSPeBTHRT &5030eM59,N OBTT DI &) VNP, esaly 1 point
o8B0 F2 dedriod® 20 IZRYRY, BYET o303 IZFNY Josd; (If Mendel
selects tall and dwarf plants for the monohybrid cross experiment and

grows 20 plants, then the number of tall plants in the F2 generation) *

Mark only one oval.

C s
@)
)15
C O



13.  §,39e38603 F2 dedriod &30ea ©bmed (Phenotypic ratio of dihybrid cross 1 point
F2 generation) *

Mark only one oval.

6:3:3:1
3:1
9:3:3:1

1:2:1

14, B;30eT90° N FoBew BTN Zde NONY) BeodZS evdded (Dinosaurs 1 point
are not capable of flying but have feathers because of) *

Mark only one oval.

B3NP3 Baesew (looks like birds)
SeBSRY, 3Pdvod Sgew (Protect body from cold)
WDor3weN Beesew (to look beautiful)

BR)rPod BgdBeY,e (to protect from enemies)

15, 3O JePINY Beo038T ¥Fes WBUISHNTIY, T3 LVBIBUBTO 1 point
R8P (The integration of multiple changes into each subgroup
across multiple generations) *

Mark only one oval.

B23eD8Tes (Speciation)
ToBTednrie? ®0Y (Flow of genes)
eDTodead aag,é:a (Genetic drift)

Bex3dze3 (Evolution)



16.

17.

18.

Bedny SNee3363 Swewzedd (Basic unit of classification of living 1 point
organisms) *

Mark only one oval.

B23ed (Species)
598 (Genus)
=03 SIF (Ecosystem)

oadreRy (Kingdom)

Sozadee3 31t wodde Bedad B8DT0dE SAWMY IR ISTHDY oG BBDE 1 point
Barra JTea rheawze (A special property of DNA that ensures the equal
distribution of similar genetic material to the offsprings is) *

Mark only one oval.

oV38 B33e S (Mutation)
DDJoadeesS (Recombination)
3,3 3306 (Replication)

DI B (variation)

odeesf 03Nt oSBT SedY T DWW weIved K0V Ne3 DV @Y 1 point
DD WEIed I B, FoBOTToE. oS3 DT FeTY BRDNW

BpJ38Y). 8TT IYNYY 3rdw), NBDNTD). YBO0T OBTT &peRss

3:T033 Tea3ID0e Oed wIabwamD. (A Mendelian experiment consisted

of breeding tall pea plants bearing violet flowers with short pea plants

bearing white flowers. The progeny all bore violet flowers, but almost half

of them were short. This suggests that the genetic makeup of the tall

parent can be depicted as) *

Mark only one oval.

TTWW
TTww
TtIWW

TtWw



19. T¥7odRd ®onny evme®ds (An example of homologous organs is) *

Mark only one oval.

S, Bee D) dedbad Rwortee (our arm and a dog's fore-leg)
S, BN D) s8Fod Bo3. (our teeth and an elephant’s tusk)
suend Q) RO O3 (potato and runners of grass)

edI oy (all of the above)

20. @3 BRI sLNSE, W@ WOBNY Sestmeniwdmad? (What factors could
lead to the rise of new species?) *

Mark only one oval.

Seead Ye3 Brisd (Genetic variations)
S;3Nes esady, (Natural selection)
Sozodeed 8 333 (Reproductive isolation)

eI aue (All of the above)

1 point

1 point



R 01-10: BFD-T, 3PV DI) D3I
Chapter-10: Light-Reflection and
Refraction

& sod, FZFsd (Multiple Choice Questions)
* Required

FRTOS W R
(First Round)

1. Mods B33 DP0D LIFB OB NN dIRTodrerien e8TemeT 3Y3S B3oa 1 point
(Division of light into seven colours in prism is due to this phenomenon of
light) *

Mark only one oval.

() O33¢ (Diffraction)
() &,880w (Polarisation)
() 88303 (Reflection)
() 38233 (Refraction)

2. 9e: DINRTB 201 evaadeenIor3 (Convex lens is used) * 1 point
Mark only one oval.

() 500% 8 4,65 (In the head lights of the cars)

Q DOBRIT ToB,f WBD dIR LT DT (In rear viewing side mirror)

() nBaires da3ed aremad (By watch repairer)

Q Bed Ty Beedd, S0HTmeN erdad B3 BB3Y (In spectacles given for myopia)



3. IWIN0B BpFweB, IS, DA SIBYMT &30S ST ST, des 1 point
BT Bwod ROTIezed TS (To get larger, real and inverted image than
the object in a convex lens the object should be placed at) *

Mark only one oval.

Fi 23 2F: ¥ S@3 (In between 2F; and 2F))
2F: Ro@ 3e3a3Y (Beyond the 2F,)

©303 BRJITBO (Infinity)

2F: 39 (at 2F)

4, IRT mdxﬁ?je‘d &3I9S (Unit used to measure the power of alens is) * 1 point
Mark only one oval.

Qee3o® (Meter)
Bdalyexkd Of (Dioptre)
ddwer (Decible)

&M, (Degree)

5. D3R Be33Q) evoeForda 3,307 Jiea (Image formed in human eye is of 1 point
the type) *

Mark only one oval.

Jedwed (Straight)

3033 (Larger than the object)
b3, (False object)

3 8Ymed I, (Inverted, real)



6. JDITEL MB)T @) 3ow STWaLL eI DTPTH WP SNBIY, ROTWeZW TS 1 point
(To get image equal to the object in a convex lens, the object should at) *

Mark only one oval.

B)5ex o=@ (Principle Focal Point)
Bon3edd @333, (Double the focal length)
©:303 Be33Q (Infinity)

B Bond DR By5° FeordnY IR (Principle focal point and vertex of the mirror)

7. WIS SEeITIB Ao wrt SO BeeB (1) BB 3369, 3G 30 DA 1 point
QTD) Syg Y Sowse avedS %ﬁ, BB DoAY QYT L0 DV 0838
IDBOBODIT, D) (2) Bt DS WIS ADFS 6 DA NeBDHSI Beed
SFNON BIIBREIT Ty D) B3 FReIT I ;Y Aw Sadw (W Dee3)
Q8=eNDHEBA. (Correct statement/s regarding the laws of refraction of light
(i) The incident ray, the refracted ray and the normal to the interface of two
transparent media at the point of incidence, all lie in the same plane, and (2)

The ratio of sine of angle of incidence to the sine of angle of refraction is a
constant, for the light of a given colour and for the given pair of media *

Mark only one oval.

(1) So3, <0 [Only (1) is correct]
(2) S93, <0 [Only (2) is correct]
(1) D2 (2) o3@w IO [Both (1) and (2) are correct]

aAregdde IO @) [None of these are correct]



8. 85 UZTIY N, BLOEINDE &30V ToeF M3 D) B3NV R 1 point
(Observe the picture, relative size and nature of the image formed is) *

A

=
C,
—_— .
OF, F,

Mark only one oval.

@3?503 B¥BD, 336 D@ 33¥med (Highly diminished, real and inverted)
3B, I, DR 3JB¥ed (Diminished, real and inverted)

SIS M), I Hd) 3JBYMeT (Same size, real and inverted)
Spgwed, I ) 3I3¥YNMed (Enlarged, real and inverted)



9.

85 B3, N, GVOLINDES @) SD0NT Toaseg M) D) & SV0WT B30 1 point
(Observe the picture, relative size and nature of the image formed is) *

Mark only one oval.

@3?503 BB D, 536 D@ 3I3¥med (Highly diminished, real and inverted)
Spgued, I ) Jed (Enlarged, real and erect)

Begwed, D5 SR Jed (Enlarged, virtual and erect)

Bpgwed, I hd) 3I3¥YNed (Enlarged, real and inverted)



10. 85 3B, MDA, YVOEFITDHS By 3DOWT TG MoS) TR By SVONT T 1 point
(Observe the picture, relative size and nature of the image formed is) *

Mark only one oval.

) BB, IZ D) 3JB¥Ymed (Diminished, real and inverted)
C) 3B, DG DB BSBYT (Diminished, virtual and inverted)
() 38w, 83 ) Sed (Diminished, real and erect)

C) 3B, D DR Jed (Diminished, virtual and erect)

QTBI oD DR
(Second Round)




11.

12.

13.

?\);’(U‘ﬁ 33,e3TIB AL B BeeInert dw=eNS (Snell’'s law of refraction is 1 point
true for angle) *

Mark only one oval.

0<i<90°
0<i<60°
30<i<90°

0>i>090°

00T AR, DRRTT Jonad BT 15 Fo.ce |F. DJRTVOT &3Dowd) 10 2 points
J0.e BRTTY BLOEINNELY SABRY, DVRTLOT dw), BRTBO VEIeD? Torto
STRTH0T HVoEINT SHFES DR, 3o HLBAO. (A concave lens has focal

length of 15 cm. At what distance should the object from the lens be

placed so that it forms an image at 10 cm from the lens? Also, find the
magnification produced by the lens.) *

Mark only one oval.

30cm, +0.33
30mm, +0.33
30cm, -0.33

30mm, -0.33

00T 2CM OBTIDS SWSIY, 10cM ForDBRTIDE e EDVRTT B 1 point
B3 et vowTN ROTUINT. SR DRARTHOT 15cm BPTTAT. *TT

SFeSabRY, BoDHBAO. (A 2.0 cm tall object is placed perpendicular to the
principal axis of a convex lens of focal length 10 cm. The distance of the

object from the lens is 15 cm. Find its magnification.) *

Mark only one oval.

+2
-2
+2.5
-2.5



14.

15.

16.

B3 reePecd DRRTNY )P Voned BT -15 cm ForMerT R3S (A 1 point
thin spherical lens have each a focal length of =15 cm. The lens is likely to
be) *

Mark only one oval.

Qa3 (concave)
e (convex)
A3 @) e (concave and convex)

eBDHS Srodd vpereNT (The information given is incomplete)

BBe3TY QDT 233, ZTNYRY, LEeD 85 BHN IDWeDIT eDTRTNYY e 1 point
BBz, BT BabY, Nerd8ed? (Which of the following lenses would you
prefer to use while reading small letters found in a dictionary?) *

Mark only one oval.

50 cm Boneh BRJSR) BeodHS dex a3 (A convex lens of focal length 50 cm)
50 cm SBonah BRJSR) BeodhE Ja) SIS (A concave lens of focal length 50 cm)
5 cm Bone BRTSR) BeodDHS dex RT3 (A convex lens of focal length 5 cm)

5 cm SBona BRIS) BeodhHE A SIS (A concave lens of focal length 5 cm)

83 BYNIINYD cZ).)(,;ZSas 3o voe3rdRA (We get virtual image) * 1 point
Mark only one oval.

AAIre BG B33 0° dod (From cinema hall projector)
g0 Faedhvedod (From Ordinary camera)
SBY "eg,B3e300d (From simple microscope)

Re3BTBezD0T3 (From television)



17, 200 SDBD, deR DTV BHo FoNDBO 20BN, Horert 30T 1 point
<93 (A image is placed at Fi. Then the image formed at) *

Mark only one oval.

2F, 382 (at 2F2)
03083339 (at infinity)
F2 392 (at Fz)

F. @orte 2F. 1% S (in between F. and 2F»)

18. 200 JESDTRTD) WV IZ; D) SUBYMT &30S Socm BRTBY 1 point
PUOEDTT BT &) 3V0VR) SIS MIB;TEHE,e VFT W0, DRRTT BwoTeNnTO
o8 203e7eNE? (A convex lens produces the real and inverted image of the
needle at a distance of 50cm If the image is the same as the size of the
object, find where the needle is placed) *

Mark only one oval.

50cm
40cm
25cm

5cm

19, 200 STV ARV IZ; DA STZTMT &30S Socm BRTBY 1 point
BLOEVTIVBT &30 TN MeZ T e VT Torie ALY, DIRTT
BwoIendY ROTIING. DVRTT ToT,FSD, BoweBAO. (A convex lens
produces the real and inverted image of the needle at a distance of 50cm
If the image is the same as the size of the object, the power of the lens.) *

Mark only one oval.

+4 D
+2D
-4 D

2D



50D-12: JT)233 Chapter-12:
Electricity

& esod, FZrd (Multiple Choice Questions)
* Required

BpdOIad ) (First Round)

1. ci)daasa‘ D)DOBTY, BFODL WP HBVOS (Unit of current is) * 1 point

Mark only one oval.

() @95 (Watt)

() @eeaF (Coulomb)
() eeer (Volt)

() esodect (Ampere)

2. JIT00BTIIY, »¥alna o8ee (The unit of potential difference is ) * 1 point

Mark only one oval.

() @95 (Watt)
() &aF (Ohm)
D) Spees (Volt)
() & @y no (kWh)



A8 DoBOBOR TR Dorrie SWT HBR 8TeBBTY, BODTY IET 1 point
BUIA ¥¥3ade (The work done in moving a unit charge across two points in
an electric circuit is a measure of) *

Mark only one oval.

A& Beve (Current)
A J=eo3T (Potential difference)
deeg (Resistance)

obge (Power)

00T BRVIF BTeBB, BTTOTDT €3), ‘ad&&ya‘ e333eBS 5035’501» (One coulomb 1 point
charge is equivalent to the charge contained in) *

Mark only one oval.

2.6 x 10"° @z 7F v (2.6 x 107 electrons)
6.2 x 10" @59, ~° Nwd (6.2 x 10" electrons)
2.65 x 10" @59, »° W0 (2.65 x 10*° electrons)

6.25 x 10" @9, i+ (6.25 x 107® electrons)

ARINYA LD AoHT BOred 3eedes (Identify the correct experimental 1 point
setup for verification of Ohm'’s law) *

AAAPA

T
-®-

B

Mark only one oval.

A

B

A3 B (A and B)

reyde e (None of the above)



6. B IDoDBY Teegddevdaiy wBdererbPde (The resistivity does not change if) 1 point

*

Mark only one oval.

SRS, wB3Odwen (the material is changed)
SoBI, WBOIWert (the temperature is changed)
SR DF) Toxm 00BN, wBOIweN (both material and temperature are changed)

3pedn 85203, 2830w (the shape of the resistor is changed)

7. 200 ADIBY T00W 8 IB) & Bead) &TODE e, 33 (The energy 1 point
transferred by a 100W electric bulb in 1 minute is) *

Mark only one oval.

100 J
600 J
3600 J
6000 J

8. 3odad méﬁdﬁg( QroertePdwen. @3 deerdly) (When the diameter of a wire 1 point
is doubled, its resistance becomes) *

Mark only one oval.

Brberte)33 (Double)

Do), C@orda3d (Four times)

28BIe 2083@e D3 (One-half)
00, 3¢ 2,0830@9H33. (One-fourth)



10.

1 point

deeddend 1.0 x 107 O m deoddha 30 m sug aba) 1.0mm? egddeddtha Sodab deeday)
The resistance of a wire of length 300 m and cross-section area 1.0 mm? made of material
of resistivity 1.0 x 107 Q m is -

Mark only one oval.

C )20
( )s30a
(. )200
( )s00Q

12V 500 mzseséd’bocﬁ BODE AT O 500N BT J,€3° 0.5A ci)cbasa‘ eﬂw& 1 point
WPDBT. werf, I Breddy (A car headlight bulb working on a 12V car battery
draws a current of 0.5A. The resistance of the bulb is;) *

Mark only one oval.

()o050Q
C )60
C )120
( )240

2BBIad DA (Second Round)



11, 20® JW oBdLBD A, B @) C e nY Toabg ) gbhesaN 40W, 60W 1 point
A 100W 30 MY IW e 8303, Jedyeo3TareN LbeeBdmer &ert
B03IDE3. (In an electric circuit, three bulbs A, B and C of rating 40W,
60W and 100W bulbs respectively are connected in parallel to an electric
source. Which of the following is likely to happen regarding their) *

Mark only one oval.

Q0B W, 1Y B30 SSNDBT. (Brightness of both bulbs will be the same)
A wef 8 3803 Be3,NDHBT. (Brightness of bulb A will be the maximum)

B wef S 3803 A wef, 3 B303N03 ®ad),. (Brightness of bulb B will be more than
that of bulb A)

C wef B 3303 B weft, ] B3038N03 38D. (Brightness of bulb C will be less than
that of bulb B).

12, 83T 20w IWE DHoBF, Foew, Trerdsnd LrelTereNd. @Yrivd JTed 1 point
Bredmab) drerdands) 39d. (The diagram shows a network of four
resistors which is connected to an electric source. Identify the resistors
which are connected in series in this network.) *

Mark only one oval.

B, A& D (B, A and D)
B, C &3 D (B, C and D)
C,D @ A (C, D and A)
A, B3 C (A, BandC)



13. ci’)dazsa‘ 0BT ci')d)zsa‘ éraeeﬁdai& VRBDI ?3@ (The symbol of a cell used in
electric circuits) *

Mark only one oval.

1 point

() option 1 () Option 2

)

C} Option 3 O Option 4



14, V-1 SZodbD, g odhS S5e8, oty @emsniwd A, B, C d) D nv deedsy gabeaN 1 point
RA, RB, Rc @@ Rp sNDH33E. 88 @o®3nert 8000303038 30035e@ Koo (Study
the V-1 graph for four conductors A, B, C and D having resistance RA, RB, Rc
and Ro respectively and which one of the following relations is true for these
conductors:) *

4 D
C

ol — v x
Mark only one oval.
Ra >Rg>Rc>Rp Ra <Rg<Rc<Rp
Option 1 Option 2
Ra=Rg=R=Rp Ra = Rg< Rc<Rp

Option 3 Option 4



15.

16.

17.

3 Q TpegEdn SRR Q30030 6V. Grerdsnd B0 B Bemd) (The 1 point
potential difference across a 3 Q resistor is 6V. he current flowing in the
resistor will be) *

Mark only one oval.

2 A
TA
2A
6A

BT BB 10 ADRNYO @B ed), AT B83eBre Bayeess) 300 C - 1 point
B33, B3RO BOWWS IT S Byemay) (The amount of electric charge

passing through a conductor in 10 minutes is 300 C, the current flowing

is;) *

Mark only one oval.

30 A
0.3A
0.5A
5A

DeBBOR IBYF BwemY 5 A BT, 10 IZoWNFY BOWNE B e8FeBriwd (If 1 point
the current throught a lamp is 5 A, charge passing through it in 10 seconds
is) *

Mark only one oval.
0.5C
2C

5C
50C



18.

19.

20.

15 V Q23550033 300D OTR) Doty S 2 C e353e3RR0 BAITen e
303 om,? (How much work is done in moving a charge of 2 C across two
points having a potential difference 15 V? *

Mark only one oval.

17 J
30J
24 J
13J

400 W 3300 S23Tee30° BIB, 8 noedns Sow w¥daiyerd@d. 1kWh i de 4
B0 30 BINFSTT BB BZ0od &P SeD? (An electric refrigerator
rated 400 W operates 8 hour/day. What is the cost of the energy to
operate it for 30 days at Rs 4.00 per kWh? *

Mark only one oval.

288
400
384
520

220V 23830 2,00 WS e » ToDBFRTINT. €8 0 IO 2 A.
ABYTDTOD BTHOBT. 871 W, S TG a&),? (An electric bulb is
connected to a 220 V generator. The current is 2 A. What is the power of
the bulb? *

Mark only one oval.

110 W
440 W
400 W
200 W

1 point

1 point

1 point



R0D-13: JTNT DB T903eod
20maNR Chapter-13: Magnetic

Effects of Electric Current

w® sl BZ % (Multiple Choice Questions)
* Required

SeduIabh DI
(First Round)

1. 3ed 3o8ad A233. (The potential of a live wire is) * 1 point

Mark only one oval.

() e (Zero)
() 5A(5A)

(" )220V (220 V)
C 1vQ@av)

2. Tded Bodah @mepd3ad . (The colour of live wire is) * 1 point

Mark only one oval.

() Bo®) (Red)

@ 20D (Green)
() 8a) (Black)

() wede (Colourless)



3.

4.

e320e230° 9033. (The Armature means) * 1 point
Mark only one oval.

©ab@9,08M% (Magnets)
Sd 3 & (Soft iron)
VOB Terte BPINS oBuT Beerds (Alignment of rings and outer circuit)

52038MY ST DS DDHBL) €3, WAL Z030h DDPY D) BLOTHTNY LeeEEH
(Alignment of rings along with a large number of circular terms of insulated copper wire
over a soft iron)

Se3 2oBBBO IBY BTodWeN Fo03ZeI T O, VWL (The rule which 1 point
indicates the magnetic field in a current carrying straight conductor is) *

Mark only one oval.

oty ®ed 3¢ dadbad (Right hand thumb rule)
BDonS adrfy; dabad (Fleming's Left —hand rule)
Pons wors,; dabad (Fleming's right —hand rule)
iR, 2 dabad (Screw rule)

S03ad DWLINYY I &B&AWer DDPNY DT INNBON S903ead 1 point
WO BeBNY 8593y 8¢ Dedaby).(When current is passed through a coil of
wire, the magnetic lines of force at the center of the coil ) *

Mark only one oval.

JISy0033 (are Parallel)
BeoB)e33ea (converge)

QBeoB,e33es (diverge)

¢3ed3 (intersect)



6. MYDVFBDO WIS B DoBLT 3o3ad 5&)@@%?@ (The energy capacity of 1 point
the domestic circuit wiring is ) *

Mark only one oval.

5V

15V
25V
50V

7. Tot3Fr 58@69&3‘3 TALTO SoBOTOI ci)doﬂa‘ (The Current in the circuit 1 point
during a short circuit is )*

Mark only one oval.

JBADIT (Stable)
3BHANDIT (Low)
B30I (High)

oD eery (None of these)

8. Rpee3o0 Soabr @) Fcons 8 JobR) w¥Saerb38d. (The functioning of a 1 point
motor involves Fleming’s rule) *

Mark only one oval.

oant, (Left hand)
2o, (Right hand)
323 3% (Thumb)
52 (Swim)



9.

10.

11.

P ITaY S 97NMBY Feo3Fed) T B30dW (The magnetic field intensity inside 1 point
a solenoid is) *

Mark only one oval.

D) Be; (Zero)
() 5@ (Medium)
@ 38 (Low)
() &ed, (High)

3003 c‘l)c:bzséd &865.3( 3¥adwa wriadw (The direction of induced current can 1 point
be found using) *

Mark only one oval.

() BDon wort, abvad (Fleming’s right—hand rule)
() Bvons o, dabad (Fleming's Left —hand rule)
() wort, 33,8% Qobad (Fleming’s thumb rule)

() mese iR, dobab (Cork screw rule)

STBI b D)
(Second Round)

OBTNRB S0033e33A) Soodead weBedn (The magnetic lines of forceina 1 point
uniform magnetic field) *

Mark only one oval.

() 93Beodyeddes (Diverge)
() Beo®eades (Converge)
() &R52033 (are Parallel)
() 2eOR awae (Al of these)



12. ci’)d)asa‘ 0BT DTZBMeN WY e (The Safety device used in an 1 point
electrical circuit is) *

Mark only one oval.

Badeem9 s (Rheostat)
& (Fuse)
), 30° (Ammeter)

{2 (Switch)

13, 2790330 evZ9 DS Barerod B Bemd B3 3adw (The frequency of 1 point
the AC current in India is) *

Mark only one oval.

100 Hz
25Hz
50 Hz
75Hz

14. 38D 30T VoI, B oODLS D Feheed S030D Y doreeIadd 2eeBITHE 1 point
0963. (An alloy wire with a low melting point is attached to a ceramic
device is) *

Mark only one oval.
Q2 (Switch)
et (Bulb)
a7 (Fuse)

eagey 4,5 (Tube light)



15. cf)d)zsa‘ Z0033 md)c;%?dai& ABEODS @03 (The device containing an 1 point
alloy attached to a ceramic material is) *

Mark only one oval.

DDHPDLOR DY Boss; (Number of turns in the coil)

DDLAY BSeDS By (Magnitude of the current flowing through the coil)
yBRY SBDII 9033 (The distance between the poles)

2ed aeFe (All of these)

16. 3&35@ 30380 I3 (The potential of a neutral wire is) * 1 point
Mark only one oval.

220V
oV

440 V
100V

17. ISR 500e800dhO 33, 03, B3OS B (The current which changes 1 point
its direction in equal intervals of time is) *

Mark only one oval.

Sodrerod day@ (Alternative current)
Sedda e (Direct current)
ST (Static current)

BT (Eddy currents)



18.

19.

20.

52033 &3 Ted) BBAEDI QIoN (The highest attracting force in a magnet is 1 point
found at ) *

Mark only one oval.

eu33 3 (North pole)
3ges 3 (South pole)
50033 Qv enide (The whole magnet)

28R IRYY (Both the poles)

ci)cbasa‘ B0ee398:Q) OB OTIBeriwoN So0de ATEHR1I &Jen (IN a motor 1 point
act as a deflector.) *

Mark only one oval.

escdee3o’ (Armature)
02D (Brushes)

23D eLorHTNRR (Split rings)
Bo03n (Magnets)

30 GVBBTEN YO TS d)d‘%ﬁ R edBdyoBh ITW T e3550300T S5 1 point
BorIeBO B ABPWY3BI (When excess current flows through the surface
of electrical gadgets we remain safe while touching them due to) *

Mark only one oval.

AW By edodrennt (High current flow)

{2 8x* 3wt (Switching on)

&,* SBareNaert (Functioning of the fuse)

e Joaze B30 IOT BeerdsdboweN (proper earthing)



p0d-14: 330D 830N Chapter-14:
Sources of Energy

& esod, FZrd (Multiple Choice Questions)
* Required

SesoIab DA (First
Round)

1. SJe308wna 3dab 8593 (Source of non-renewable energy) * 1 point

Mark only one oval.

() &3 (Wood)
() &°033 (Solar energy)
() 39098 2033 (Fossil fuel)

() 883 83 (Wind energy)

2. ©T0xTdL3S B3ab dmoﬁ?aﬁg( P0IBT emézsdodd. (The need to use 1 point
non-conventional sources of energy) *

Mark only one oval.

@ BIBosres e, ee3 SEaey (To prevent population explosion)
D) 09003, 0edd3 B330dh BZert (For the protection of non-conventional energy)
@ 3dod DB, L3S B0F233, (To the solution of the energy crisis)

@ 33ob D3 en), J)dDew (To create an energy crisis)



TNTNL0T B3 GVS B BN (Types of energy production from oceans) 1 point

*

Mark only one oval.

V) 333 ) ey 33 (Tidal energy and wave energy)
o) 3 B D) &5,233 B3 (Tidal energy and Nuclear energy)
iy 33 ) 3,253 3& (Wave energy and Nuclear energy)

N3 eu3d D) B3I B (Ocean thermal energy and wind energy)

& DTt 50 (Reason for acid rain) * 1 point
Mark only one oval.

XP0BEA0T TSV T &ee) B3 DIArdID (Heating of atmosphere from solar
energy)

BYAPE ROFINY BBID0T @eTee3TEB,ARDNTATDE S, B, 0° D) &,edp e
&3 .o (Carbon, sulphur and nitrogen oxide released into the atmosphere from the burning
of fossil fuels)

SReBNY IS FREBAOT GVOEIITDHS ITYTTe B (Charges resulting from
friction between clouds)

P TBSTETO0D VDS BTN (Acids in the atmosphere)

390 23, 0°30 BAD DS BO:HHB, F9Te9B &Jent (The part of the solar 1 point
cooker that is responsible for green house effect is) *

Mark only one oval.

33, w6 (Black coating)
I3 BIBeea (Plane mirror)
Mo Te¥ (Glass sheet)
edeedead o’ (Metallic sheet)



6.

JPTDB,O° IO DB TBEEI Tore ), 6 VST SoTEIS0TT (In solar cooker, 1 point
plane mirror and black paint used for this reason.) *

Mark only one oval.
R°8)3Ter Be0Q) e300V DR) BB Tod HedFeeyen (Convergence of solar radiation

and to absorb less heat)

ASTENRYRY, IBeoRYBeD D) Fed), T bed3pYww (Divergence of radiation and to
absorb more heat)

Jeerden DordTmeN Bagsew (To look beautiful)

ASTeNYRY BeoBesdTen DI) Bed), oay HedBpYw (convergence of radiation and to
absorb more heat)

UFIWE TN WHDS 0TS (Fuel used in thermal power plant) * 1 point
Mark only one oval.

e (water)

adwdedado (Uranium)

&,3 U9d (Bio mass)
BRAWES 2033 (Fossil fuel)

JPTBee3nPY Bdabh Cewe0333 I3 (The type of energy conversion in solar 1 point
cells) *

Mark only one oval.

20330 TS BdodreN (Solar energy into electric energy)
oVFBS0d I BdodreN (Thermal energy into electrical energy)
B393R B3odw evgddaiien (Light energy into heat energy)

A Bdodw I¥3I BdodreN (Electrical energy into light energy)



9. & °0Bee3N% mmé w833 (Main component of solar cell) * 1 point

Mark only one oval.

@ sowex* (Carbon)
() 2Ozv=* (Silicon)
D) o}y (Copper)

@ 2p0Tex* (Boron)

10.  TeabeIO DBDRBIrerhS ey ©creeed B3t Sedtamera &b (The process 1 point
of the enormous amount of energy released in the sun) *

Mark only one oval.

D) BRSO 3OZOS 3B &0d (The combustion process of coal in the sun)
() oug 23,88 IBYR b (Thermal nuclear fission reaction)

@ PR 3,0d (Decomposition reaction)

D eug 23,238 B, & ad (Thermal nuclear fusion reaction)

2BBId DI (Second
Round)

11. 3033 dme.‘)ﬁgdﬁg( 3NTew QDS Fd (Measure to reduce environmental 1 point
pollution) *

Mark only one oval.

@ 3,103 Tso e IDBES 959 JeJe390 (Inadequate waste disposal of industrial
waste)

@ B,038 DeBINYY Jo3dDID (Travelling in own vehicles)

@ TOTERAB TOTTobRD, T2Fg N WHDITD (Often using public transport)

@ QD AP D N u#éobdg( 'céagxbd)d) (Increasing use of CFCs)



12, 25,d8 v m@ddd@m AL HUTY B @30 0d e TOSNRLW (Three stages 2 points
of the gas production process at a biogas plant) *

Mark only one oval.
D3)es Bptd b WA — DIBTY AT — BT ee3BY ey T (Slurry in the

mixing tank — Decaying in digester — Manure in the outer valve)

DIBRY) I3 ad — e Beed 0O WNRE — BT BB e 3 (Decaying in
digester — Slurry in the mixing tank — Manure in the outer valve)

QD)6 e 0D WA — BT 3BT 1) T — HedBBY JIgremegod (Slurry in the
mixing tank — Manure in the outer valve — Decaying in digester)

BRT 3303Q 1) B — &6 SRt 0D WA — HeEBTY JFe3nedod (Manure in the
outer valve — Slurry in the mixing tank — Decaying in digester)

13, 2UITE TISTOIBS 0SB Iob ToBriwke (The stages of energy 1 point
conversion in a hydroelectric plant) *

Mark only one oval.
Sor3 0 B B30, TS BdadreN S0B3rJwerb3a (The potential energy
of accumulated water is converted into electrical energy)

Sor}%3 AedS BUIBZALRY, I BdaireN BOBSeSeerd3ds (The kinetic energy of
water movement is converted into electrical energy)

QeB0B AT BEobRY B3 edBwerd3a (Electric energy is separated from water)

QeTRY, BeIodreN BOBSED B vz DIwerhIeS (Water is turned into steam and
electricity is generated)

14, 3pdab SedS du BT B3MY o3 Swew (The ultimate source of forms 1 point
of energy on the earth) *

Mark only one oval.

edd (Water)

Jeade (Sun)

adwdedabo (Uranium)
BRWPS Qo3 (Fossil fuel)



15. e3¢ 38 I0I3 dn@aiéd 330 dez (The least polluting source of energy) 1 point

*

Mark only one oval.

Se;dead 33 (Nuclear energy)
oug @S 33 (Thermal power energy)
X903 33 (Solar energy)

eriede su3d (Geothermal energy)

16. @BAD DS BOHDE, FoTEITNIS FT2THB,0° S JeN (The part of the solar
cooker that causes the green house effect) *

Mark only one oval.

B ridevrt wPabeed 3 we (Black colour painted into the box)
[AREIC @3303&@ WPDTT 830(& (A mirror used for light reflection)
B0 e w¥IB MRS Bort (Glass board used as a lid)

X930 28,0° 3 B3 Swed) ¥ (Solar cooker's outer lid)

17.  Tond evg B3ab Swew (The source of ocean thermal energy) *
Mark only one oval.

N3 BRYY Sony@=eNDS 33 (Energy stored in ocean waves)

oY QedS 23ed el oMY SWAIS SoaBOS B39 (The difference in
temperature between different layers of oceans water)

oY QedS 23ed eed FoNY ISP wIBIOS B3I (Pressure difference
between different layers of oceans water)

RCBNRYY evoe3erda evr) 3-a93nw (Tidal fluctuations in the oceans)

1 point

1 point



18. 28,8 0B d})&)zs 338 (The main component of biogas) * 1 point
Mark only one oval.

Qegdes* (Methane)

Sowa’ By 33 ;o (Carbon dioxide)
3@ ewx’ (Hydrogen)

®,8read* IS ,tF (Hydrogen sulphide)

19.  Me® aboZRVoBd BT suE9 BN Bedwed Mmevad e (Optimal wind speed 1 point
for power generation from wind mills) *

Mark only one oval.

5 3.Qve/mo (5 km/hr)

10 3.Qve/rio (10 km/hr)
15 &.Qve/rlo (15km/hr)
25 &.Qve/rto (25km/hr)



©50-15: S, BORT Chapter-15: Our
Environment

& esod, FZrd (Multiple Choice Questions)
* Required

BpdOIad ) (First Round)

1. &Bpes® IWT GVoLIINE 98T PAES I3 (Type of radiation 1 point
responsible to form ozone layer is) *

Mark only one oval.

() ®eg, 3dorintsb (micro waves)
() ©3=e3% 83 (UV rays)
() BeBadee 3donniwd (radio waves)

D) 539, FPoT (ultrasound)

2. B BINIIYINYY 23,8 eI wPmerda anesaéﬁ%b (Biodegradable substance 1 point
in the following) *

Mark only one oval.

() a.a.. (DDT)

D) 3 3y (agri waste)
D) @3,5° (plastic)

() mow (glass)



3.

4.

5.

23,8 s adrerhcs Z«Rase%daig( JoM) DS BIT e od 269 (Bin colour used to 1 point

collect biodegradable waste is) *

Mark only one oval.

Bog) (Red)
20D (Green)
edd (Blue)
3o (Brown)

BYNIYINYY SOV I edo @03 (Eco friendly fuel is) *

o

Mark only one oval.

Bedrees® (petrol)
dedag (kerosene)
2,3 8o (bio gas)
2eF.3.3. (LPG)

B8 DY FoT¢ed (Reason for acid rainis ) *
Mark only one oval.

©3ey Jo3 (deforestation)

SO0° D) 3yedrens 83, (sulphur and nitrogen oxides)

3,039 (fossil fuel wastes)

A3Tes 32y (nuclear wastes)

1 point

1 point



6.

7.

8.

38 IPBIN wYTBE TYRNY ASEBHETT B3 IR GLBD BOToTNT. (Best 1 point
method to manage non-biodegradable waste is ) *

Mark only one oval.

ToJD (burning)

00 ToRPIW (dumping)

BRD) T (burying)

D 238336 YD (recycle)

B3 wYB IPINYY BOTT S ed IGe (Eco friendly method of using 1 point

Y
energy is) *

Mark only one oval.

D,08 DoBINYY B)odreed1Id (travelling in own vehicle)
0T DeanYRY YYD (using solar powered lights)
O3, I WIDYHD (using lift frequently

Bed) Y IDYD (Using more electricity)

LBwees’ ST3T GVoEFTHAB0D OTBD BoBNY BDesTes (Two steps equations of 1 point
formation of ozone layer) *

Mark only one oval.

1) 0:+0—052) 0.+ 0 — Os
1) 0. —>0+02)0:+0— 05
1) 02+ 0. — 0:2) 02+ 0 — 05
1)0+0 —0.2) 0:+0 — 05



9. Le3ReR BTV N33, FoTEHDT S (The substance responsible for the 1 point
depletion of ozone layer) *

Mark only one oval.

CFC
CCF
HDFC
KFC

10.  2230ed* od edab HedR Zednent sNDHS BBwe b3 (Role of ozone 1 point
for organisms is) *

Mark only one oval.

sH3S Fpd,3 (supplying oxygen)
905 dadboB)es (pollution control)
Sedvoded J3TenPor 338 (protection from UV rays)

Sora’ By 33 i RT3 (supply of CO:2)



RAD-16: §;BNES DOTIR,LNY DT
Jcdee Chapter-16: Sustainable

Management of Natural Resources

w® sl BZ % (Multiple Choice Questions)
* Required

SedoIab DI
(First Round)

1. nomezode adeeRs 50 wod SR¢ (Ganga action plan project came into 1 point
force on) *

Mark only one oval.

(" )1985
(. )1975
(. )1999
( )2015

2. HOXT 3gmr @edTSes9d @03 (Steps to be taken to protect our 1 point
environment is ) *

Mark only one oval.

() B, By, DoBInYay, w¥bEE (using more vehicles)
() 5R 8e3, 39033 (following 5R's)

() aonvs, sBanad (cutting down trees)

() Re3rmd3 Sroma@) (Mining)



3. @dsaéﬁ%b (Forests are) * 1 point
Mark only one oval.

z%edﬁéc:’)c_jaéob TRF, SN (bio-diversity hotspots)
Bt S5ed8 (problem for development)

axe evaadeeride (of no use)

SedT addred@e @) (none of the above)

4. 3,38 FoBRe LMY DIT ABEBHAD 20T Fo0F WIS IFRS0TT (A 1 point
traditional way of sustainable management of natural resources is) *

Mark only one oval.

YO R0k IFRT, WRDHBODITD (rain water harvesting)
3ty 3eBBY woD@ToDNYY, ehedbDYwd (grazing cows in forests)
BYEE VoBITRY, Fed, Bed), WYDPD (using more fossil fuels)
3,050 a3 BBBrie ¥bYD (reducing industries)

5. "D uged" T e (Re-purpose means) * 1 point
Mark only one oval.

Q3 w¥3 (reduce)
S 833,336 (recycle)
DDVYS (reuse)

Swew BVTEBE, WYTUNOFT 23ed euidedd, wPDPYD (using a product for other
purpose when it cannot be used for same purpose)



6. NoMeRLY FoRDVDADHT BJITS VELITLIY SoTRI0T mééebm (Bacteria 1 point
found in river '‘Ganga' and also found in human intestine is) *

Mark only one oval.

Bredzeare (coliform)

Sobee 2393 edadre (cyano bacteria)
Q03 (Vibrio)

Ssednje wydedalre (Nitro-bacteria)

7. ;3N3 SR, 0NY DT ASEBEMN A, 2eB T;O000 areBBeYWIBTIT 1 point
@ORT & ed 39 (A method which you use for sustainable management of
natural resources is) *

Mark only one oval.

O, NY B DHed NI wPDID (using staircase instead of lift)
0,08 ZBINYRY, WYDJYTD (using own vehicle)

By DRI (going excursion)

edT cddre@e 0 (none of the above)

8. "DDYE JpoIY) HTrIGeBTEIB, 03 VB HB0TT (Reuse is better than 1 point
recycle, because) *

Mark only one oval.

2D 2B, 28 IDIHBO0T (people like it)
33 Y3033 (energy is used)

33 SobeerdIDe (energy is not used)
evua3e) (It is not good)



0. @ﬁ%e&gﬁ%ﬁxﬁ& QADEDIBO0T 3713 0T3S (A major problem in constructing 1 point
dams is) *

Mark only one oval.

() o= 3033 @@ (no problem at all)

C} 08 DR B R BT (leads to deforestation and loss of agricultural land)
@ 20303, Ie33 (better for environment)

@ wodRro B, JD (increases ground water level)

10. ®o32f0T F\’n@gd AIEBB L DLy 93 (Failure of sustainable 1 point
management of ground water level is due to ) *

Mark only one oval.

() 38= woswro 93 (less use of ground water)

() DBYDEDT 1080 Y8 BB DY B0k BYSIBIDDIT (over use of ground water
and not adopting rain water harvesting)

() essunwd (dams)
() 30nw (rivers)

QTBI o DR
(Second Round)

11, DFdecdy 2ond (Rain water harvesting means) * 1 point

Mark only one oval.

() @ Qeda, Borjbd wvaa@m (collecting rain water and using)
() 3e’de mo03e38 3 (just a symbolic word)

D) Bed) 3% YYD (raising more crops)

D BB NP, ALERDPHD (constructing dams)



12.

13.

14.

RBOTZ M vMegdeen Faben sa3e (Over growth of aquatic plants is due

to) *

Mark only one oval.

QehriRod (fishes)

©03BREL BeIMHRIBO0T (raise in ground water level)
cdweednededdes (eutrophication)

Bexd 33533 (biodiversity)

S 0NEB BowRe, MY DAT IBes 2083 (Sustainable management of
natural resources means) *

Mark only one oval.

=003

5, o) LOENTTRDIYID (doing damage to natural resources)

LONPRY BeIg N YD (using more resources)

03

LNERY, BTN P (using less resources)

BORVTZ, T VYT AT LD FBI (using resources with minimum damage to

environment)

©3ey KU JNY e wBVoDBweNDE 3,103 (Industries depending on

forest resources are ) *

Mark only one oval.

3 DB Fond 3;1Med3 (wood and paper industries)
8590 3,M03 (food industries)
Tom00bA3 3,103 (chemical industries)

Doy, Beo* e, (software industries)

1 point

1 point

1 point



15. eﬂdsz)zs JoTZE b d.»&)zs ™0 (Main aim of forest conservation is ) *
Mark only one oval.

33O Fos B;re D (trekking)
2e3 déc‘.’)zjzséoi)dg( BVRIBRYRID (conserving biodiversity)
3y VB IS, JondbR (collecting forest resources)

2033 DodTmeN Begsew (for beauty of ambience)

16.  SIBec) JoogsneN adha @3 (Award for wildlife conservation is) *
Mark only one oval.

83033 &3 (environment award)

) Forec) Daioe 0 ead @3S (Amruta Devi Bishnoi National Award)
390333, (Bharat Ratna)

38, edexes (Padma Vibhushan)

17.  D5@5e3n0 B8o@uths Ueds JedS Bpady 33 (Traditional rain water
harvesting system in Madhya pradesh is) *

Mark only one oval.

wodex® (bundhis)
5o~ (khadins)
e* (kulhs)
3e3n (kattas)

18. @BADIDS 9w (An example for green house gas is) *
Mark only one oval.

CO:
H

Ar

1 point

1 point

1 point

1 point



19.  od)yzeriedd a’f)aa’radeoif ©TT T,B@BE RS T3 (The Award giving in 1 point
memory of Amrita Devi Bishnoi) *

Mark only one oval.
() 3Bed BoogBmN wdy@etsed Ide,ealr Tad eod 33 (Amrita Devi Bishnoi
National Award for Wildlife Conservation)

() SR, BoogBmN edyzored IRA,ealr 0ad ead 33 (Amrita Devi Bishnoi
National Award for Wild plant Conservation)

() 63 So0g@mN vmyzesed IkR LS Tod eab 534 (Amrita Devi Bishnoi National
Award for lion Conservation)

() 20 Jogsmen vayzeded dats ol Tod eab 3% (Amrita Devi Bishnoi National
Award for tiger Conservation)

20.  &¥exd) SOROMeN BeevaBT BIT Tz (State of the people who fought for 1 point
the Khejri trees) *

Mark only one oval.

() 8~eres3 (Karnataka)
(_ ) oewwys (Rajasthan)

() 83 worme¥ (West Bengal)
() 8es¥ (Kerala

STI D DI
(Third Round)

21. TS eﬂdeaﬂri%}o BRI To (Sal forests are found in) * 1 point
Mark only one oval.

() @@eveg, (Maharashtra)
() rieese (Goa)

D 33,3 wore¥ (West Bengal)
() 8~eress (Karnataka)



22. »IoBw FTedTW QYT Aed Ak IR (Traditional rain water 1 point
harvesting system in Himachal pradesh is) *

Mark only one oval.

OB (eris)
es®0° (ahars)
et (kulhs)

Do0F* (nadis)

23.  DBH0WY, : 2320090 D) oS : 1 TOLTITI (Maharashtra: 1 point
Bandharas and tals :: Rajastan: ) *

Mark only one oval.

S0 D) Medex’ (Khadins and nadis)

33 D) 3e3 % (Tanks and kattas)
2390093 &) ;2 (Bhandharas and pynes)
wodex* DR esxo® (Bundhis and ahars)

24, 93 Bpe BRTP 880303 Sz (Chipko andolan originated in) * 1 point
Mark only one oval.

1970
1975
1990
1981



25. B 0EB) : MoMeID : | VW0 JTeST - (Tehri Dam : River 1 point
Ganga :: Sardar Sarovar : ) *

Mark only one oval.

2o (River Tunga)
3wy, (River Bhadra)
Svewe (River Narmada)

So3ed (River Kaveri)



